MICROBIOLOGY

TESTS FOR CURRENT AND INTERMEDIATE CONTROL
Module 1. The Morphology of Microorganisms
Variance I  
Indicate the number of right sentence: 

1. The cell wall of Gram positive bacteria is composed of: 
1. thin peptidoglycan layer 

2. thick peptidoglycan layer 
3. nucleic acids 

4. outer membrane with lipopolysaccharide 

5. periplasmic space 

2. Which method may be used for detection of motile bacteria 
1. Brightfield microscopy of stained smears 

2. Electron microscopy 

3. Darkfield microscopy 
4. immune electron microscopy 

5. Fluorescent microscopy 

3. Burry-Gins staining is used to 
1. detect capsule 
2. differentiate Gram-positive and Gram-negative bacteria 

3. differentiate acid fast and nonacid fast bacteria 

4. stain spores 

5. detect nucleic acids 

4. All prokaryotes lack: 
1. ribosomes 

2. fimbriae 

3. mitochondria 
4. inclusions 

5. flagella 

5.  Paul Ehrlich developed  

1. theory of humoral immunity 

2. theory of humoral immunity, chemotherapy of infectious diseases  

3. theory of humoral immunity, chemotherapy of infectious diseases, vaccine against small pox  

6. What is the function of Lipid A in  bacterial cell wall?

1. antigenic

2. trophic

3. receptor for antibiotics

4. endotoxin

7. Phase contrast microscopy uses for study of:

1. bacteria stained with fluorescent dye

2. stained with positive method
3. stained with negative method
4. native, without stain and fixing
8. List five additional components out of bacterial cell:

1. cell wall, cell membrane, capsule, pili, flagella

2. cell wall, outer membrane, plasmids, pili, flagella

3. inclusions, outer membrane, capsule, pili, flagella

4. cell wall, outer membrane, capsule, pili, flagella

9. List four essential components of bacterial cell.

1. nucleoid, cell membrane, ribosomes, cell wall

2. nucleoid, cell membrane, ribosomes, cytoplasm

3. nucleoid, flagella, ribosomes, cytoplasm

4. plasmids, cell membrane, ribosomes, cytoplasm

10. Mycoplasmas are different from the other prokaryotes by

1) presence of chitin in cell walls

2) presence of murrain in cell walls

3) presence of proteins in cell walls

4) absence of cell wall itself

11. Which of the following is not true for eukaryotic cells?

1) Nucleus is bounded by nuclear membrane

2) Chromosomes contain histones
3) Chloroplasts and mitochondria contains 70S ribosomes

4) Gas vacuoles are present

12. Which of the following structure is absent in eukaryotic cells?

1) Mitochondria

2) Chloroplasts

3) Golgi structure

4) Mesosome

Variance II 

1. The cell wall of Gram negative bacteria contains: 
1. inorganic components 

2. thin peptidoglycan layer 
3. teichoic & lipoteichoic acids 

4. thick peptidoglycan layer 

5. nucleic acids 

2. Which method may be used for detection of motile bacteria 
1. Brightfield microscopy of stained smears 

2. Electron microscopy 

3. Darkfield microscopy 
4. immune electron microscopy 

5. Fluorescent microscopy 

3. Direct immunofluorescent test 
1. is the reaction between specific antibody and soluble antigen, 

2. is the reaction between antibody labeled with fluorescent dye and antigen 
3. is the reaction of antibody with a particulate antigen 

4. is used to detect bacterial genomic DNA 

5. is used to detect bacterial ribosomal RNA

4. All prokaryotes lack: 
1. ribosomes 

2. fimbriae 

3. mitochondria 
4. inclusions 

5. flagella 

5.  Contributions of Louis Pasteur in microbiology: 

1. disproved theory of life spontaneous generation  

2. disproved theory of life spontaneous generation;  developed vaccines against anthrax and rabies

3. disproved theory of life spontaneous generation; developed vaccines against anthrax and rabies; developed method of treatment with heat for store of wine and bear

6. What are the functions of pili:

1. adhesion,  antigenic, transfer of genetic material

2. motility,  antigenic, transfer of genetic material

3. protection,  antigenic, transfer of genetic material

7. Phase contrast microscopy uses for study of:

1. bacteria stained with fluorescent dye

2. stained with positive method
3. stained with negative method
4. native, without stain and fixing
8. What is the function of polysaccharide chains in bacterial cell wall:

1. antigenic

2. trophic

3. receptor for antibiotics

4. endotoxin

9. Which of the following best represents the hierarchy of levels of biological classification?

1) Phylum, kingdom, class, order, genus, species, family

2) Kingdom, phylum, class, order, family, genus, species

3) Kingdom, phylum, family, class, order, genus, species

4) Class, order, kingdom, phylum, family, genus, species

10. Prokaryotic microorganism include
1) Protozoa

2) Fungi

3) Bacteria

4) all of these

11. What is Mycology?

1) Study of viruses

2) Study of nucleic acid

3) Study of bacteria

4) Study of fungi

12. L-forms of bacteria lack: 
1. plasmids 

2. inclusions 

3. cytoplasmic membrane 

4. ribosomes 

5. cell wall 
Correct answers: Variance I: 1.2, 2.3, 3.1, 4.3, 5.4, 6.4, 7.4, 8.4, 9.2, 10.4, 11.4, 12.4

Variance II: 1.2, 2.3, 3.2, 4.3, 5.3, 6.1, 7.4, 8.1, 9.2, 10.3, 11.4, 12.4

Module II. The Physiology of Microorganisms  

Variance I 

1. Requirements for microbial growth

Indicate a number of right answer: 

1. composition of medium;

2. composition of medium, incubation period;

3. composition of medium, incubation period, optimal temperature;

4. composition of medium, incubation period, optimal temperature, composition of atmosphere.

2. Microorganisms which use organic substrate of dead organisms are called…  

Write: ____________________________________ 

3. Types of Respiration in Bacteria:

Indicate a number of right answer: 

1. obligate aerobes;
2. obligate aerobes, microaerophiles;
3. obligate aerobes, microaerophiles, obligate anaerobes;
4. obligate aerobes, microaerophiles, obligate anaerobes, facultative anaerobes (facultative aerobes), aerotolerant anaerobes

4. Characteristics of pure culture required for its identification at the species level:

Indicate a number of right answer: 

1. morphological;
2. morphological, biochemical;
3. morphological, biochemical, antigenic;

4. morphological, biochemical, antigenic, phagotypes.

5. Cultural method consists of 2 stages:

      Write their names: 

      1)____________________________

      2)____________________________

6. Genome of bacterial cell contains:

Indicate a number of right answer: 

1. chromosome;
2. chromosome, plasmids;
3. chromosome, plasmids, transposons;
4. chromosome, plasmids, transposons, prophages.
Match the words (only one Letter for each Number):

7. Mechanisms of genetic recombinations and their names: 
1. Transfer of genes from donor to recipient                                А. Mutation 

 through nutrient medium or live body                                         B. Conjugation 

                                                                                                      C. Transduction
2. Transfer of genes from donor to recipient                                D. Insertion
via a bacteriophage                                                                       E. Transformation
8.The basic kinds of genetic variation in bacteria:

Indicate a number of right answer: 

1. mutation;
2. mutation, recombination;
3. mutation, recombination, lysogenic conversion;
4. mutation, recombination, lysogenic conversion, insertion.
9. Phases of life cycle of bacteriophage:

Establish the numbers of these phases in a right sequence:

1. Entry of phage DNA and deradation of host DNA;

2. Adsorbtion of phage;

3. Assembly of virions;

4. Synthesis of viral DNA and proteins;

5. Releasing of virions;

6. Lysis of bacterial wall on the inside.

Write:

10. Bacteriophage which can use lysogenic cycle under certain conditions is named__________________________.

This type of phage applies for (write the purpose)______________________.

Variance II

1. Phases of life cycle of bacteriophage:

Establish the numbers of these phases in a right sequence:

1. Entry of phage DNA and deradation of host DNA;

2. Adsorbtion of phage;

3. Assembly of virions;

4. Synthesis of viral DNA and proteins;

5. Releasing of virions;

6. Lysis of bacterial wall on the inside.

2. Cultural method consists of 2 stages:

      Write their names: 

      1)____________________________

      2)____________________________

Write:

3. Bacteriophage which can use lysogenic cycle under certain conditions is named__________________________.

This type of phage applies for (write the purpose)______________________.

Match the words (only one Letter for each Number):

4. Mechanisms of genetic recombinations and their names: 
1) Transfer of genes from donor to recipient                                А. Mutation 

 through nutrient medium or live body                                         B. Conjugation 

                                                                                                      C. Transduction
2) Transfer of genes from donor to recipient                                D. Insertion
via a bacteriophage                                                                       E. Transformation
5. Requirements for microbial growth

Indicate a number of right answer: 

1. composition of medium;

2. composition of medium, incubation period;

3. composition of medium, incubation period, optimal temperature;

4. composition of medium, incubation period, optimal temperature, composition of atmosphere.

6. Microorganisms which use organic substrate of dead organisms are called…  

Write: ____________________________________ 

7. Genome of bacterial cell contains:

Indicate a number of right answer: 

1. chromosome;
2. chromosome, plasmids;
3. chromosome, plasmids, transposons;
4. chromosome, plasmids, transposons, prophages.
8. Types of Respiration in Bacteria:

Indicate a number of right answer: 

1. obligate aerobes;
2. obligate aerobes, microaerophiles;
3. obligate aerobes, microaerophiles, obligate anaerobes;
4. obligate aerobes, microaerophiles, obligate anaerobes, facultative anaerobes (facultative aerobes), aerotolerant anaerobes

9.The basic kinds of genetic variation in bacteria:

Indicate a number of right answer: 

1. mutation;
2. mutation, recombination;
3. mutation, recombination, lysogenic conversion;
4. mutation, recombination, lysogenic conversion, insertion.
10. Characteristics of pure culture required for its identification at the species level:

Indicate a number of right answer: 

1. morphological;
2. morphological, biochemical;
3. morphological, biochemical, antigenic;

4. morphological, biochemical, antigenic, phagotypes.
Correct answer: 
Variance I:  1. 4; 2. saprophytes; 3. 4; 4. 4; 5. 1) Isolation of pure culture, 2) Identification of pure culture; 6. 4; 7. 1–E, 2–C; 8. 2; 9. 2, 1, 4, 3, 6, 5; 10. temperate (lysogenic), genetic engineering
Variance II: 1. 2, 1, 4, 3, 6, 5; 2. 1) Isolation of pure culture, 2) Identification of pure culture; 3. temperate (lysogenic), genetic engineering; 4. 1–E, 2–C; 5. 4; 6. saprophytes; 7. 4; 8. 4; 9. 2; 10. 4
Module 3. Ecology of microorganisms. Infectious process
Variance I

Indicate the number of right sentence:

1. Choose the antibiotic which influence on the cell wall synthesis by inhibiting cross-linkage of peptidoglycan layers: 
a) ampicillin 

b) erythromycin 

c) gentamicin 

d) rifampin 

e) polymyxin 

2. Choose the group of infections which are transferred only between humans 
a) sapronoses 

b) zoonoses 

c) anthroponoses 

3. Choose the soluble factor of innate antibacterial immunity: 
a) interferon 

b) IgE 

c) macrophages 

d) lysozyme 

e) urease 

4. Who developed the concept of specific toxicity?

a) Pasteur

b) Fleming

c) Watson

d) Ehrlich

5. Which of the following articles can be sterilized in an autoclave?

a) Gloves

b) Culture media

c) Dressing material

d) All of these

6. Complete destruction of the microorganisms is commonly known as

a) disinfection 

b) sterilization

c) antisepsis

d) none of these

7. The enzyme, which hydrolyses the murein is

a) perxoidase

b) tannase

c) lysozyme

d) none of these

8. Coagulase-reacting factor is necessary for

a) slide coagulase test

b) tube coagulase test

c) precipitation test

d) none of these

9. Coliforms are used as indicator organisms because

a) they are present wherever enteric pathogens are present

b) a testing procedure with great specificity is easy to perform

c) both (a) and (b)

d) none of the above

10. The toxins produced by bacteria

a) kill viruses

b) encourage bacterial reproduction

c) interfere with physiological processes in the body

d) all of the above

Variance II

Indicate the number of right sentence:

1. Who developed the concept of specific toxicity?

a) Pasteur

b) Fleming

c) Watson

d) Ehrlich

2. The most selective antibiotics are those that interfere with the synthesis of

a) bacterial DNA

b) bacterial RNA 

c) bacterial cell walls

d) bacterial plasma membrane

3. Choose the cell factor of innate antibacterial immunity: 
a) interferon 

b) IgE 

c) macrophages 

d) lysozyme 

e) urease 

4. Mucus helps in protecting against pathogens by

a) lowering the pH
b) facilitating the growth of normal flora

c) blocking access and attachment of pathogens to mucosal surfaces

d) sequestering Iron

5. Which of the following articles can be sterilized in an autoclave?

a) Gloves

b) Culture media

c) Dressing material

d) All of these

6. Coagulase-reacting factor is necessary for

a) slide coagulase test

b) tube coagulase test

c) precipitation test

d) none of these

7. Which of the following methods would be most appropriate for sterilizing an antibiotic solution?

a) Dry heat sterilization

b) Microfiltration

c) Autoclaving

d) Desiccation

8. Coliforms are used as indicator organisms because

a) they are present wherever enteric pathogens are present

b) a testing procedure with great specificity is easy to perform

c) both (a) and (b)

d) none of the above

9. Complete destruction of the microorganisms is commonly known as

a) disinfection 

b) sterilization

c) antisepsis

d) none of these

10. Most microbial structures and enzymes are composed of

a) lipids

b) proteins

c) carbohydrates

d) lipids and carbohydrates

Correct answer: 
Variance I: 1.a, 2.c, 3.d, 4.d, 5.d, 6.c, 7.c, 8.b, 9.c, 10. c
Variance II: 1.d, 2.c, 3.c, 4.c, 5.d, 6.b, 7.b, 8.c, 9.c, 10.b
MSQ module 1 Specimen microbiology

1. Name the main (basic) method for laboratory diagnosis of staphylococcal infection 
a) immunofluorescent method 

b) bacteriological method 

c) skin test 

d) molecular genetic method 

e) serological method 

2. Staphylococcus aureus 
a) Gram positive cocci arranged in grape-like clusters 

b) Gram positive rods arranged in chains 

c) Gram negative cocci arranged in pairs 

d) Gram negative rods arranged singly 

e) Gram positive pleomorphic rods with bulge or bifurcation at the end 

3. Beta-lactamase activity is ensured by enzyme: 
a) protease 

b) DNA-ase 

c) hyaluronidase 

d) penicillinase 

e) lecithinase 

4. The bacteria which is novobiocin resistant is

a) Staphylococcus aureus
b) S epidermidis

c) S saprophyticus

d) None of these

5. Identify the bacteria which is oxidase-negative and catalase-positive?

a) Staphylococcus
b) Streptococcus

c) Neisseria

d) Pseudomonas

6. Coagulase-reacting factor is necessary for

a) slide coagulase test

b) tube coagulase test

c) precipitation test
d) none of these

7. Bacteria which produces coagulase is

a) S epidermidis

b) S saprophyticus

c) S aureus

d) S hominis

8. Staphylococcal food poisoning usually manifests itself following ingestion of contaminated food after

a) 2-6 hours

b) 8-12 hours

c) 12-18 hours

d) 18-36 hours

9. Which of the following Staphylococcal haemolysins does not cause lysis of human RBCs?

a) β haemolysin
b) γ haemolysin
c) α haemolysin
d) δ haemolysin
10. The toxin of Staphylococcus aureus that may result into scalded skin syndrome is

a) Enterotoxin
b) Leucocidin
c) Epidermolytic toxin
d) Haemolysin
11. The bacteria involved in the production of dental caries is/are

a) Streptococcus mutans
b) S sanguis
c) Both (a) and (b)

d) Streptococcus pyogenes

12. Which of the following test indicates the susceptibility to streptococcal pyrogenic exotoxin?

a) Schick test
b) Disk test

c) ASO test

d) Precipitation test

13. Which of the following condition is non-suppurative sequelae of Streptococcus pyogenes infections?

a) Acute rheumatic fever

b) Acute glomerulonephritis

c) Erythema nodosum

d) All of these

14. Which of the following cross-reacts with cell wall carbohydrate of Streptococcus pyogenes?

a) Cardiac valves

b) Synovial fluid

c) Myocardium

d) Vascular intima

15. Streptococcus pyogenes can be differentiated from other haemolytic Streptococci on the basis of

a) Bacitracin sensitivity

b) Erythromycin sensitivity

c) Aminoglycosides sensitivity

d) Penicillin sensitivity

16. Streptolysin O is

a) Antigenic

b) oxygen-labile

c) heat-labile

d) all of these

17. Cell wall protein of Streptococcus pyogenes crossreacts with human

a) synovial fluid
b) cardiac valves

c) myocardium

d) vascular intima
18. Individuals suffering from primary atypical pneumonia have agglutinins to

a) Streptococcus MG

b) S avium

c) S mutans

d) Enterococcus faecalis

19. Which of the following test(s) may establish retrospective diagnosis of streptococcal infection?

a) Anti-DNase B test

b) ASO test

c) Streptozyme test

d) All of these

20. The bacterial sore throat is caused by

a) Staphylococcus aureus

b) Haemophilus spp

c) Streptococcus pyogenes

d) Mycoplasma pneumoniae

21. Crystal violet blood agar is a selective medium for

a) β-haemolytic streptococci

b) Staphylococcus aureus
c) Corynebacterium diphtheriae

d) Mycobacterium tuberculosis

22. Which of the following gram-positive bacteria causes pharyngitis (sore throat)?

a) Neisseria
b) Streptococcus

c) Staphylococcus

d) Mycobacterium

23. Neisseria gonorrhoeae 
a) Gram positive cocci arranged in grape-like clusters 

b) Gram positive rods arranged in chains 

c) Gram negative cocci arranged in pairs 

d) Gram negative rods arranged singly 

e) Gram positive pleomorphic rods with bulge or bifurcation at the end 

24. Neisseria meninditidis 
a) Gram positive cocci arranged in grape-like clusters 

b) Gram positive rods arranged in chains 

c) Gram negative cocci arranged in pairs 

d) Gram negative rods arranged singly 

25. Streptococcus pneumoniae 
a) Gram positive cocci arranged in grape-like clusters 

b) Gram positive rods arranged in chains 

c) Gram positive cocci arranged in pairs 

d) Gram negative rods arranged singly 

26. Members of the genus Mycobacterium are

a) gram-positive

b) acid-fast

c) non-motile

d) all of these

27. Culture of tubercle bacilli may be positive if number of bacteria in the specimen is 

a) as few as 1-4 per ml 

b) as few as 5-9 per ml

c) as few as 10-100 per ml

d) as few as 125-200 per ml 

28. Example of a Saprophytic bacteria is

a) M. xenopi

b) M. smegmatis

c) Mycobacterium chelonei
d) M. marinum
29. Eugonic growth on Lowenstein-Jensen medium is produced by

a) M bovis

b) Mycobacterium tuberculosis

c) Both (a) and (b)
d) None of the above

30. False negative Mantoux test is observed in

a) early tuberculosis

b) Advanced tuberculosis

c) Severe malnutrition

d) All of these 

31. Humans become infected with Mycobacterium tuberculosis most frequently by

a) inhalation

b) ingestion

c) contact

d) inoculation

32. The bacteria which is microaerophilic on primary isolation, is

a) M fortuitum

b) Mycobacterium tuberculosis

c) M bovis

d) none of these

33. The bacteria which cause(s) tuberculosis in man is/are

a) M bovis

b) Mycobacterium tuberculosis

c) M africanum

d) All of these

34. Which of the phage types of Mycobacterium tuberculosis occurs most frequently in India?

a) Type A

b) Type B

c) Type C

d) Type I

35. Nutrient medium for isolation of  M. tuberculosis:

a) Lowenstein-Jensen medium;

b) Loeffler’s serum slope;

c) Wilson-Blar agar;

d) Blood agar;

36. The "A" subunit of diphtheria toxin

a) binds host cell receptors found on heart cells

b) cause ADP ribosylation of a factor involved in protein synthesis

c) forms cAMP that leads to fluid accumulation

d) lysis macrophages with the release of cytokines

37. Which of the following is common in the disease caused by Corynebacterium diphtheriae and Bacillus anthracis?

a) Both organisms are gram-positive spore formers

b) Diphtheria toxin and edema toxin are ADP ribosylating toxins

c) The most serious disease symptoms are the direct result of toxin action

d) Both organisms cause skin and respiratory tract infections

38. Which infectious disease is treated by antitoxic serum? 
a) Trachoma 

b) Diphtheria 

c) Gonorrhea 

d) Brucellosis 

e) Typhoid fever 

39. Necessary component of cultural diagnostics of diphtheria is:

a) phagotyping;
b) disk diffusion test with antibiotics;

c) slide agglutination test;

d) precipitation Elek’s test.

40. What results of cultural method does confirm diagnosis “Diphtheria”

a) Corynebacterium sp. is revealed;

b) Corynebacterium diphtheriae is revealed;

c) nontoxigenic strain of Corynebacterium diphtheriae is revealed;

d) toxigenic strain of Corynebacterium diphtheriae is revealed.

41. Selective medium for Corynebacterium diphtheriae is:

a) blood agar;

b) tellurite blood agar;

c) serum agar;

d) mannitol salt agar.

42. Which of the following serotypes of Salmonella does not produce H2S?

a) S choleraesuis

b) S paratyphi A 

c) Both (a) and (b)

d) None of these

43. Which of the following media is selective for Salmonella?

a) Thiosulphate citrate bile salt agar 

b) Wilson and Blair's brilliant-green bismuth sulphite agar medium

c) Bile salt agar 

d) All of the above

44. Dysentery may be caused by

a) enteropathogenic Escherichia coli

b) enteroinvasive E. coli
c) enterotoxigenic E. coli
d) verotoxigenic E. coli
45. Which of the following(s) bacteria belong to the family Enterobacteriaceae?

a) Yersinia
b) Shigella

c) Salmonella

d) All of these

46. The bacteria, which is more resistant to adverse environmental conditions, is

a) S sonnei
b) S dysenteriae
c) S flexneri

d) S boydii

47. Which of the following bacteria is/are known as coliform bacilli?

a) Escherichia
b) Klebsiella
c) Enterobacter
d) All of these
48. Salmonellae can also be killed by

a) pasteurisation
b) chlorination
c) boiling
d) all of these

49. Enterobacter can be differentiated from Klebsiella by

a) ornithine positivity

b) motility

c) both (a) and (b)

d) none of these

50. Which of the following can readily kill Salmonellae?

a) Moist heat at 55°C for 20 min

b) Moist heat at 55°C for 10 min

c) Moist heat at 55°C for 30 min

d) Moist heat at 55°C for 1 hr

51. Traveller's diarrhea is caused by

a) enteropathogenic Escherichia coli (EPEC)

b) enteroinvasive E. coli (EIEC)

c) enteroinvasive E. coli (ETEC)
d) enterohaemorrhagic E. coli (EHEC)
52. Species of Shigella which is predominant in India is

a) S sonnei
b) S dysenteriae
c) S boydii
d) S flexner
53. Primarily human pathogenic bacteria is/are
a) Salmonella typhi

b) S paratyphi A

c) S paratyphi B

d) all of these
54. Choose the microorganism which is monotrichous: 
a) Escherichia coli 

b) Salmonella enteritidis 

c) Proteus vulgaris 

d) Vibrio cholerae 
e) Pseudomonas aeruginosa 

55. Salmonella Typhi 
a) Gram positive cocci arranged in grape-like clusters 

b) Gram positive rods arranged in chains 

c) Gram negative cocci arranged in pairs 

d) Gram negative rods arranged singly 
e) Gram positive pleomorphic rods with bulge or bifurcation at the end 

56. Vibrio cholerae 
a) Gram positive cocci arranged in pairs 

b) Pleomorphic cells without cell wall 

c) Gram negative cocci arranged in pairs 

d) Gram negative motile curved rods 
e) Gram negative motile rods not arranged in groups 

57. Choose a member of family Enterobacteriaceae 
a) P.aeruginosa 

b) C.perfringens 

c) L.interrogans 

d) S.typhi 
e) S.pneumoniae 

58. Which toxin changes water-salt balance? 
a) Choleragen 
b) Botulinum toxin 

c) Endotoxin 

d) Diphtheriae toxin 

e) Anthrax toxin 

59. Which serological reaction is used for diagnosis of typhoid fever? 
a) PCR 

b) CFT 

c) tube agglutination 
d) ring test 

e) RIA 

60. Choose the infectious disease in which phage typing is widely used for epidemiological analysis: 
a) Dysentery 

b) Typhoid fever 
c) Coli-enteritis 

d) Botulism 

e) Campylobacteriosis 

61. Which of the followings can be used to differentiate between classical and El Tor biotypes of Vibrio cholerae?

a) Sensitivity to Mukerjee's group IV phage

b) Agglutination of fowl RBCs

c) Sensitivity to polymyxin B

d) All of these

62. Which of the following biotypes of Vibrio cholerae are prevalent in India?

a) EI Tor
b) Classical

c) Both (a) and (b) 

d) None of these

63. Which of the following does not cause wound infection following exposure to sea water or infected shellfish?

a) Vibrio vulnificus
b) V. alginolyticus

c) V. cholerae

d) Aeromonas

64. The test(s) used for the assay of cholera toxin is/are
a) Radioimmunoassay

b) Enzyme-linked immunosorbent assay

c) Morphological changes in Chinese hamster ovary cells

d) All of the above

MODULE 2. SPECIES MICROBIOLOGY  

Variance I 

Indicate a number of right answer: 

1. Which of the following can be identifyed by milk ring test?

a. Brucellosis

b. Salmonellosis

c. Bovine tuberculosis

d. All of these

2. The most pathogenic Brucella spp for man is

a. B melitensis
b. B abortus
c. B suis
d. B canis
3. Which of the following types of Clostridium perfringens produces alpha toxin most abundantly?

a. Type A

b. Type B

c. Type C

d. Type D

4. Which of the following properties are the characteristics of tetanospasmin?

a. It is a heat-labile protein

b. It is a neurotoxin

c. It can be toxoided

d. All of these

5. Nagler's reaction is useful for the identification of

a. C tetani
b. C perfringens
c. C botulinum
d. C difficile
6. Which of the following genera is included in the family Bacteroidaceae?

a. Bacteroides
b. Fusobacterium
c. Leptotrichia
d. All of these

7. The bacteria which is predominant flora of the human gut is

a. Escherichia coli
b. Clostridium perfringens
c. Bacteroides
d. Actinomyces
8. Colonies resembling molar teeth are produced by

a. Nocardia brasiliensis
b. N. asteroids
c. Actinomyces israelii
d. Actinomadura madurae
9. Antibodies to which of the following antigens of Bacillus anthracis are protective?

a. Capsular polypeptide

b. Somatic polysaccharide

c. Anthrax toxin

d. None of these

10. Slime molds differ from the moldy fungi

a. in their mode of nutrition: phagocytosis for the slime molds; absorptive heterotroph for moldy fungi

b. in that the moldy fungi produce amoeboid or flagellated cells and the slime molds do not

c. Both (a) and (b)

d. none of the above

11. Which spore is on a club and results from the fusion of two nuclei from different strains of the same fungi?

a. Ascospore

b. Basidiospore

c. Blastospore

d. Conidiospore

12. Which of the following determine the pathogenicity of Yersinia pestis?

a. V and W antigens

b. F1 envelope antigen

c. Production of pigmented colonies on haemin containing media

d. All of these

13. Which microorganism can't be cultivated on artificial solid media? 
a. Treponema pallidum 

b. Staphylococcus aureus 

c. Escherichia coli 

d. Klebsiella pneumoniae 

e. Bacillus cereus 

14. Spirochaetes exhibit

a. corkscrew-like rotatory movement

b. flexion and extension motility

c. translatory motion

d. all of the above

15. Mycoplasmas, rickettsiae, and chlamydiae are
a. types of fungi
b. small bacteria
c. species of protozoa
d. forms of viruses
16. Which of the following are obligate intracellular parasites?

a. Chlamydia
b. Viruses

c. Rickettsia

d. All of these
17. Which of the following types of clostridium perfringens produces alpha toxin most abundantly?

a) Type A

b) Type B

c) Type C

d) Type D

18. Which of the following is predominantly proteolytic?

a) C. sporogenes

b) C. histolyticum

c) Both (a) and (b)
d) C. speticum
19. Clostridium botulinum food poisoning is due to

a) invasion of bacteria in the intestine

b) preformed toxin

c) both (a) and (b)

d) none of the above

Variance II 

1. Human transmission of Brucellae occurs by

a. ingestion of contaminated meat

b. direct contact with animal tissues

c. ingestion of infected milk

d. all of these

2. Which of the following is predominantly proteolytic?

a. C. sporogenes
b. C. histolyticum
c. Both (a) and (b)

d. C. speticum
3. Types of exotoxin, most commonly associated with botulism in man, is/are?

a. Type A

b. Type B

c. Type E

d. All of these

4. Lactobacilli grow best under

a. strict anaerobic conditions

b. microaerophilic conditions in presence of 5% CO2 and PH6

c. microaerophilic conditions in presence of 3% CO2 and PH5

d. microaerophilic conditions in presence of 2% CO2 and PH4

5. The test(s) which can be used to differentiate anthrax bacilli from anthracoid bacilli is/are

a. presence of medusa-head colony

b. presence of capsule

c. susceptibility to gamma phage

d. all of these

6. Medusa head appearance of the colonies may be due to

a. Bacillus anthracis
b. Proteus mirabilis
c. Clostridium tetani
d. Pseudomonas aeruginosa
7. The number of sets of chromosomes in a dikaryotic cell

a. is greater than diploid cell

b. is lesser than diploid cell

c. is equal to diploid cell

d. none of these

8. The bread mold Rhizopus stolonifer belongs to which of the following fungal divisions?

a. Ascomycota

b. Deuteromycota

c. Oomycota

d. Zygomycota

9. Bipolar staining is characteristic of

a. Yersinia pestis
b. Proteus mirabilis
c. Pseudomonas aeruginosa
d. all of these

10. The most common cause of urinary tract infection in the community is

a. Klebsiella pneumoniae
b. Proteus vulgaris
c. Escherichia coli
d. Citrobacter freundii
11. The bacteria which is predominant flora of the human gut is

a. Escherichia coli
b. Clostridium perfringens
c. Bacteroides
d. Actinomyces
12. Spirochaetes exhibit

a. corkscrew-like rotatory movement

b. flexion and extension motility

c. translatory motion

d. all of the above

13. Which of the following genus belongs to family Spirochaetaceae?

a. Treponema

b. Spirochaeta

c. Borrelia

d. All of these

14. Which of the following organisms can be demonstrated with silver impregnation method?

a. Vibrios
b. Salmonella
c. Spirochaetes

d. Shigella

15. Which microorganism can't be cultivated on artificial solid media? 
a. Chlamydia trachomatis 

b. Staphylococcus epidermidis 

c. Salmonella typhi 

d. Mycobacterium tuberculosis 

e. Bacillus anthrax 

16. Choose the microorganism which lacks capsule: 
a. Bacillus anthracis 

b. Staphylococcus aureus 

c. Streptococcus pneumoniae 

d. Klebsiella pneumoniae 

e. Leptospira interrogans 
17. NAGLER'S REACTION IS USEFUL FOR THE IDENTIFICATION OF

a. C tetani 
b. C perfringens
c. C botulinum
d. C difficile
18. THE MOST TOXIC EXOTOXIN IS
a. tetanus toxin

b. diphtheria toxin

c. botulinum toxin 

d. cholera toxin

19. LACTOBACILLI CONSTITUTE THE NORMAL FLORA OF

a. prepubertal vagina

b. adult vagina 

c. post-menopausal vagina

d. none of these

Correct answer:

Variance I: 1. a, 2. a, 3. a, 4. d, 5. b, 6. d, 7. b, 8. c, 9. c, 10. c, 11. b, 12. d, 13. a, 14. d, 15. a, 16. c, 17. b, 18. d, 19. b
Variance II: 1. d, 2. c, 3. d, 4. a, 5. d, 6. a, 7. c, 8. d, 9. a, 10. c, 11. b, 12. d, 13. d, 14. c, 15. b, 16. a, 17. b, 18. a, 19. b
MSQ microbiology for exam

1. The cell wall of Gram positive bacteria is composed of: 
a) thin peptidoglycan layer 

b) thick peptidoglycan layer 
c) nucleic acids 

d) outer membrane with lipopolysaccharide 

e) periplasmic space 

2. The cell wall of Gram negative bacteria contains: 
a) inorganic components 

b) thin peptidoglycan layer 
c) teichoic & lipoteichoic acids 

d) thick peptidoglycan layer 

e) nucleic acids 

3. Pure culture of bacteria is represented by: 
a) the cells of one and the same genus 

b) the cells derived from different sources 

c) the cells of one and the same species 
d) genetically different organisms 

e) cells of different species 

4. Facultative anaerobes are bacteria 
a) which can produce energy only by fermentation 

b) which carry out only respiration 

c) which die in the presence of oxygen 

d) in which the final electron acceptor is molecular oxygen 

e) which can proliferate regardless of presence of oxygen 
5. Obligate aerobes are bacteria 
a) which can produce energy from glucose by fermentation 

b) in which the final acceptor is organic substance 

c) which require the presence of molecular oxygen for growth 
d) in which the final electron acceptor is nitrogen 

e) which can proliferate regardless of presence of oxygen 

6. Transformation as the mechanism for gene transfer 
a) accomplishes several types of transfer for genes from donor cell into recipient cell 

b) is mediated by the temperate bacteriophages 

c) involves uptake of fragments of free DNA by competent cells 
d) depends on the presence of a conjugative plasmid in the donor cell 

e) requires viable donor cells 

7. Conjugation as the mechanism for gene transfer 
a) accomplishes different ways of transfer for genes from donor cell to recipient cell 

b) is mediated by temperate bacteriophages 

c) involves uptake of fragments of free DNA by competent cells 

d) depends on the presence of a conjugative plasmid 
e)requires inactivated donor cells 

8. Probiotics are biopreparations for the correction of microflora which consist of: 
a) live indigenous microorganisms 
b) complex of live indigenous microorganisms with non-metabolizable substrates 

c) toxoids 

d) non-metabolizable non-absorbable substrates that are useful for growth of indigenous microbial flora 

e) bacteriophages 

9. Humoral components of innate (nonspecific) immunity defense is: 

a) complement system proteins 
b) insulin 

c) macrophages 

d) bacteriophages 

e) endotoxin 

10. Cell component of innate immunity defense is: 
a) macrophages 
b) B-cells 

c) T-cells 

d) normal antibodies 

e) erythrocytes 

11. Passive immunity refers 
a) to the protection based on the transfer of preformed specific antibodies 
b) to the protection based on the transfer of preformed cell-mediated immunity 

c) to the protection based on the transfer of preformed cytokines 

d) provides local immunity 

e) provides long-term protection 

12. Active immunity refers 
a) to the protection based on the production of specific antibodies by the host after immunization or infectious disease 
b) to the protection based on activity of NK-cells 

c) to the protection based on the transfer of preformed cytokines 

d) provides short-term protection 

e) to protection based on the transfer of preformed specific antibodies 

13. Agglutination reaction in tubes 
a) is interaction between specific antibody and soluble antigen resulting in formation of clumps 

b) is interaction between specific antibody and particulate antigen resulting in formation of sediment 
c) is interaction between specific antibody and cytokine resulting in formation of clumps 

d) positive result - formation of insoluble ring precipitate 

e) negative result - hemolysis 

14. Slide agglutination reaction 
a) is a reaction of specific antibody with a soluble antigen resulting in formation of precipitate 

b) is a reaction of specific antibody with a particulate antigen resulting in formation of clumps 
c) negative result - formation of clumps 

d) positive result - change of color 

e) positive result - hemolysis 

15. Killed viral vaccine is used for specific prophylaxis of 
a) measles 

b) mumps 

c) hepatitis C 

d) rubella 

e) rabies 
16. Live vaccines are used for specific prophylaxis of 
a) diphtheria 

b) hepatitis D 

c) botulism 

d) tetanus 

e) tuberculosis 
17. Live vaccine for specific prophylaxis against tuberculosis is called: 
a) MMR 

b) DTP 

c) HLA 

d) BCG 
e) DT 

18. Positive result of ELISA is detected by: 
a) hemolysis 

b) change of color 
c) formation of clumps 

d) formation of sediment 

e) flocculation formation 

19. Live viral vaccines are used for specific prophylaxis of 
a) diphtheria 

b) rubella 
c) hepatitis B 

d) tetanus 

e) tuberculosis 

20. Toxoids are used for specific prophylaxis of 
a) diphtheria 
b) rubella 

c) measles 

d) mumps 

e) tuberculosis 

21. Choose the infection for which prophylaxis we can use live or inactivated vaccine due to immune state of recipient: 
a) tetanus 

b) rubella 

c) mumps 

d) measles 

e) poliomyelitis 

22. Salmonella Typhi 
a) Gram positive cocci arranged in grape-like clusters 

b) Gram positive rods arranged in chains 

c) Gram negative cocci arranged in pairs 

d) Gram negative rods arranged singly 
e) Gram positive pleomorphic rods with bulge or bifurcation at the end 

23. Neisseria gonorrhoeae 
a) Gram positive cocci arranged in grape-like clusters 

b) Gram positive rods arranged in chains 

c) Gram negative cocci arranged in pairs 
d) Gram negative rods arranged singly 

e) Gram positive pleomorphic rods with bulge or bifurcation at the end 

24. Neisseria meninditidis 
a) Gram positive cocci arranged in grape-like clusters 

b) Gram positive rods arranged in chains 

c) Gram negative cocci arranged in pairs 
d) Gram negative rods arranged singly 

e) Gram positive pleomorphic rods with bulge or bifurcation at the end 

25. Bifidobacterium bifidum 
a) Gram positive cocci arranged in grape-like clusters 

b) Gram positive rods arranged in chains 

c) Gram negative cocci arranged in pairs 

d) Gram negative rods arranged singly 

e) Gram positive pleomorphic rods with bulge or bifurcation at the end 
26. Staphylococcus aureus 
a) Gram positive cocci arranged in grape-like clusters 
b) Gram positive rods arranged in chains 

c) Gram negative cocci arranged in pairs 

d) Gram negative rods arranged singly 

e) Gram positive pleomorphic rods with bulge or bifurcation at the end 

27. Streptococcus pneumoniae 
a) Gram positive cocci arranged in grape-like clusters 

b) Gram positive rods arranged in chains 

c) Gram positive cocci arranged in pairs 
d) Gram negative rods arranged singly 

e) Gram positive pleomorphic rods with bulge or bifurcation at one end 

28. Bacillus anthracis 
a) Gram positive cocci arranged in pairs 

b) Gram positive rods arranged in chains with central spores 
c) Gram negative cocci arranged in pairs 

d) Gram negative rods arranged singly 

c) Gram positive rods with terminal spores 

29. Clostridium tetani 
a) Gram positive cocci arranged in pairs 

b) Gram positive cocci arranged in grape-like clusters 

c) Gram positive rods arranged in chains 

d) Gram negative rods arranged singly 

e) Gram positive rods with terminal spores 
30. Pseudomonas aeruginosa 
a) Gram positive cocci arranged in pairs 

b) Pleomorphic cells without cell wall 

c) Gram negative cocci arranged in pairs 

d) Gram negative motile curved rods 

e) Gram negative motile rods arranged singly 
31. Vibrio cholerae 
a) Gram positive cocci arranged in pairs 

b) Pleomorphic cells without cell wall 

c) Gram negative cocci arranged in pairs 

d) Gram negative motile curved rods 
e) Gram negative motile rods not arranged in groups 

32. Mycoplasma pneumoniae 
a) Gram positive cocci arranged in pairs 

b) Gram negative motile rods arranged singly 

c) Pleomorphic cells without cell wall 

d) Gram negative cocci arranged in pairs 

e) Gram negative motile curved rods 

33. Bacteria can be divided into the groups by Gram staining as they have 
a) thick or thin peptidoglycan layer (murein) 
b) inclusions 

c) capsule 

d) outer lipopolysaccharide membrane 

e) mycolic acids 

34. Microscopical diagnosis method of tuberculosis is performed using 
a) Gram stain 

b) Ziehl-Neelsen stain 
c) Methylene blue stain 

d) Giemsa stain 

e) Silver stain 

35. Which method may be used for detection of motile bacteria 
a) Brightfield microscopy of stained smears 

b) Electron microscopy 

c) Darkfield microscopy 
d) immune electron microscopy 

e) Fluorescent microscopy 

36. Direct immunofluorescent test 
a) is the reaction between specific antibody and soluble antigen, 

b) is the reaction between antibody labeled with fluorescent dye and antigen 
c) is the reaction of antibody with a particulate antigen 

d) is used to detect bacterial genomic DNA 

e) is used to detect bacterial ribosomal RNA 

37. Gram staining is used to 
a) detect capsule 

b) differentiate gram positive and negative bacteria 
c) differentiate acid fast and nonacid fast bacteria 

d) stain spores 

e) detect nucleic acids 

38. Ziehl-Neelsen staining is used to 
a) detect capsule 

b) differentiate Gram-positive and Gram-negative bacteria 

c) differentiate acid fast and nonacid fast bacteria 
d) stain spores 

e) detect nucleic acids 

39. Burry-Gins staining is used to 
a) detect capsule 
b) differentiate Gram-positive and Gram-negative bacteria 

c) differentiate acid fast and nonacid fast bacteria 

d) stain spores 

e) detect nucleic acids 

40. The cell wall of acid-fast bacteria is composed of 
a) thick peptidoglycan layer without mycolic acids 

b) thin peptidoglycan layer with mycolic acids 

c) only teichoic & lipoteichoic acids 

d) thick peptidoglycan layer with mycolic acids 
e) nucleic and teichoic acids 

41. Incompleted phagocytosis lacks the stage of: 
a) chemotaxis 

b) digestion 
c) attachment 

d) endocytosis 

e) antigen presentation 

42. The term "species of bacteria" means a group of organisms 
a) with a close genetic resemblance to one another 
b) which are derived from a single cell 

c) which are genetically different 

d) which inhabit the same biological niche 

e) which has similar phenotype but dissimilar genotype 

43. Incompleted phagocytosis is typical to pathogenesis of: 
a) tuberculosis 
b) botulism 

c) rubella 

d) mumps 

e) herpes 

44. Incompleted phagocytosis is typical to pathogenesis of: 
a) whooping cough 

b) gas gangrene 

c) rubella 

d) gonorrhea 
e) measles 

45. Incompleted phagocytosis is typical to pathogenesis of: 
a) plaque 
b) diphtheria 

c) tetanus 

d) gas gangrene 

e) botulism 

46. Transduction as the mechanism of gene transfer 
a) involves uptake of fragments of free DNA by competent cells 

b) is mediated by bacteriophages 
c) accomplishes only one-way transfer of RNA from donor cell to recipient cell 

d) depends on the presence of a conjugative plasmid 

e) depends on the presence of a non-conjugative plasmid 

47. Choose the antibiotic which influence on the cell wall synthesis by inhibiting cross-linkage of peptidoglycan layers: 
a) ampicillin 
b) erythromycin 

c) gentamicin 

d) rifampin 

e) polymyxin 

48. Bacteriophages 
a) are prokaryotic organisms; 

b) are naked viruses infecting bacteria 
c) are enveloped viruses infecting bacteria 

d) have lipopolysaccharide membrane; 

e) genome contains two types of nucleic acid simultaneously 

49. Choose the group of infections which are transferred only between humans 
a) sapronoses 

b) zoonoses 

c) anthroponoses 
50. Choose the group of infections which are transferred to humans from the environment 
a) sapronoses 
b) zoonoses 

c) anthroponoses 

51. Choose the group of infections which are transferred to humans from animals 
a) sapronoses 

b) zoonoses 
c) anthroponoses 

52. Genetically engineered vaccines are used for specific prophylaxis of: 
a) hepatitis A 

b) hepatitis B 
c) hepatitis C 

d) poliomyelitis 

e) tuberculosis 

53. Skin test with specific allergens is used for diagnosis of: 
a) tuberculosis 
b) enteric fever 

c) staphylococcal infection 

d) influenza 

e) cholera 

54. Choose a NON-serological reaction 
a) Complement fixation test 

b) Ring test 

c) Slide agglutination 

d) Tube agglutination 

e) PCR 
55. Which of the following tests is serological reaction? 
a) color probe 

b) Ring test 
c) urease activity 

d) Hemagglutination of virus 

e) PCR 

56. Choose the soluble factor of innate antibacterial immunity: 
a)interferon 

b) IgE 

c) macrophages 

d) lysozyme 
e) urease 

57. Choose a member of family Enterobacteriaceae 
a) P.aeruginosa 

b) C.perfringens 

c) L.interrogans 

d) S.typhi 
e) S.pneumoniae 

58. Name the main (basic) method for laboratory diagnosis of staphylococcal infection 
a) immunofluorescent method 

b) bacteriological method 
c) skin test 

d) molecular genetic method 

e) serological method 

59. Choose the microorganism which produces toxin, acting on protein synthesis: 
a) C.diphtheriae 
b) M.pneumoniae 

c) C.trachomatis 

d) L.interrogans 

e) M.tuberculosis 

60. Сhoose the soluble factor of innate antiviral immunity: 
a) interferon 
b) IgD 

c) macrophages 

d)lysozyme 

e) protease 

61.Choose the biopreparation, which is used for passive specific prophylaxis of infectious diseases: 
a) hormones 

b) probiotics 

c) antibiotics 

d) serums 
e) vitamins 

62. Choose the biopreparation, which is used for passive specific prophylaxis of infectious diseases: 
a) hormones 

b) probiotics 

c) antibiotics 

d) immunoglobulins 
e) vitamins 

63. Name the bacterium, which is used in probiotic preparations 
a) Lactobacillus 
b) Clostridium 

c) Staphylococcus 

d) Borrelia 

e) Mycoplasma 

64. Name the bacterium, which is used in probiotic preparations 
a) Bifidobacterium 
b) Klebsiella 

c) Staphylococcus 

d) Leptospira 

e) Chlamydia 

65. Which staining technique is used for detection of C.diphtheriae? 
a) Neisser's stain 
b) Romanowsky-Giemsa stain 

c) Burry-Gins stain 

d) Silver impregnation 

e) Acid fast stain 

66. Which immunoglobulin ensures local immunity? 
a) IgG 

b) IgM 

c) IgA 
d) IgE 

e) IgD 

67. Which toxin changes water-salt balance? 
a) Choleragen 
b) Botulinum toxin 

c) Endotoxin 

d) Diphtheriae toxin 

e) Anthrax toxin 

68. Which toxin is regarded to superantigens? 
a) Choleragen 

b) Botulinum toxin 

c) Endotoxin 

d) Diphtheriae toxin 

e) Staphylococcal enterotoxin 
69. Superantigen is toxin which induces: 
a) excessive production of proteolytic enzymes 

b) excessive release of cytokines and T-cell proliferation 
c) decrease nucleic acid and protein synthesis 

d) causes endotoxic shock 

e) change of water-salt balance 

70. Which immunoglobulin is synthesized initially during primary infectious disease? 
a) IgG 

b) IgM 
c) IgA 

d) IgE 

e) IgD 

71. Which immunoglobulin is synthesized during recurrent infection? 
a) IgG 
b) IgM 

c) IgA 

d) IgE 

e) IgD 

72. Which method is used for detection of toxin in the clinical specimen? 
a) Serological method 
b) Immunofluorescent method 

c) Skin test 

d) Bacterioscopical method 

e) Electron microscopy 

73. Which cells participate in innate and adoptive immunity simultaneously? 
a) B-cells 

b) Erythrocytes 

c) Macrophages 
d) Neutrophils 

e) NK-cells 

74. Which microorganism can't be cultivated on artificial solid media? 
a) Treponema pallidum 
b) Staphylococcus aureus 

c) Escherichia coli 

d) Klebsiella pneumoniae 

e) Bacillus cereus 

75. Which microorganism can't be cultivated on artificial solid media? 
a) Chlamydia trachomatis 
b) Staphylococcus epidermidis 

c) Salmonella typhi 

d) Mycobacterium tuberculosis 

e) Bacillus anthrax 

76. Antitoxic immunity is induced by inoculation of: 
a) antibiotics 

b) bacteriophages 

c) probiotics 

d) toxoids 
e) live vaccines 

77. Choose the combined live vaccine 
a) MMR 
b) DTP 

c) DT 

d) pyobacteriophage 

e) BCG 

78. Toxoid is used for specific prophylaxis of 
a) tetanus 
b) mumps 

c) measles 

d) tuberculosis 

c) meningococcal infection 

79. Toxoid is used for specific prophylaxis of 
a) diphtheria 
b) rubella 

c) varicella 

d) influenza 

e) pneumococcal infection 

80. Subunit vaccine is used for specific prophylaxis of 
a) tetanus 

b) mumps 

c) measles 

d) tuberculosis 

e) meningococcal infection 

81. Subunit vaccine is used for specific prophylaxis of 
a) diphtheria 

b) rubella 

c) varicella 

d) influenza 

e) pneumococcal infection 
82. Which serological reaction is used for diagnosis of typhoid fever? 
a) PCR 

b) CFT 

c) tube agglutination 
d) ring test 

e) RIA 

83. Which serological reaction uses particulate antigen? 
a) passive agglutination test 
b) ring precipitation 

c) flocculation test 

d) Ouchterloni method 

e) ordinary diffusion in gel 

84. Which method of laboratory diagnosis is useless for diagnosis of syphilis? 
a) microscopy 

b) serological method 

c) immunofluorescent method 

d) biological method 
e) genetic engineering method 

85. Which method of sterilization is used for serums? 
a) ultraviolet radiation 

b) chemical exposition 

c) filtration 
d) hot air oven 

e) X-ray 

86. Name the cellular factor of innate immunity: 
a) NK-cells 
b) T-lymphocytes 

c) B-lymphocytes 

d) Precursor cells 

e) erythrocytes 

87. Positive result in paired serum for diagnosis of infectious disease means 
a) 2-fold or more increase in antibody titer 

b) 4-fold or more increase in antibody titer 
c) 8-fold or more increase in antibody titer 

d) 16-fold or more increase in antibody titer 

e) 32-fold or more increase in antibody titer 

88. Choose the method of rapid diagnosis for infectious diseases: 
a) skin test 

b) inoculation into animals 

c) immunofluorescent method 
d) bacteriological method 

e) paired serums 

89. Choose the microorganism which can form capsule 
a) Mycoplasma pneumoniae 

b) Chlamydia trachomatis 

c) Leptospira interrogans 

d) Bacillus anthracis 
e) Mycobacterium tuberculosis 

90. Choose the microorganism which lacks cell wall 
a) Staphylococcus aureus 

b) Mycoplasma pneumoniae 
c) Escherichia coli 

d) Treponema pallidum 

e) Brucella abortus 

91. Choose the microorganism which can form capsule 
a) Mycoplasma hominis 

b) Chlamydia pneumoniae 

c) Clostridium perfringens 
d) Treponema pallidum 

e) Mycobacterium bovis 

92. Choose the most rapid test of diagnosis among enumerated serological reactions 
a) Immunobloting 

b) ELISA 

c) Ouchterloni test 

d) Latex-agglutination 
e) Radioimmunoassay 

93. Which serological reaction is used for measurement of activity of serums, which are applied in treatment of infections? 
a) ELISA 

b) Flocculation reaction 
c) Latex-agglutination 

d) Immunobloting 

e) Slide agglutinations 

94. Which infectious disease is treated by antitoxic serum? 
a) Tuberculosis 

b) Brucellosis 

c) Syphilis 

d) Mycoplasmal pneumonia 

e) Botulism 
95. Which infectious disease is treated by antitoxic serum? 
a) Trachoma 

b) Diphtheria 
c) Gonorrhea 

d) Brucellosis 

e) Typhoid fever 

96. Which infectious disease is treated by antitoxic serum? 
a) Dysentery 

b) Gas gangrene 
c) Syphilis 

d) Leptospirosis 

e) Legionellosis 

97. Which method is used for recommendation of rational treatment of infectious diseases? 
a) ELISA 

b) Disc diffusion test 
c) Biochemical activity of microorganism 

d) Production of pigment by microorganism 

e) Radioimmunoassay 

98. Beta-lactamase activity is ensured by enzyme: 
a) protease 

b) DNA-ase 

c) hyaluronidase 

d) penicillinase 
e) lecithinase 

99. Choose the infectious disease in which phage typing is widely used for epidemiological analysis: 
a) Dysentery 

b) Typhoid fever 
c) Coli-enteritis 

d) Botulism 

e) Campylobacteriosis 

100. Choose the microorganism which can form spores 
a) Mycoplasma pneumoniae 

b) Chlamydia pneumoniae 

c) Leptospira interrogans 

d) Bacillus anthracis 
e) Mycobacterium tuberculosis 

101. Choose the microorganism which can form spores 

a) Mycoplasma hominis 

b) Chlamydia pneumoniae 

c) Clostridium perfringens 
d) Treponema pallidum 

e) Mycobacterium africanum 

102. Choose the microorganism which lacks cell wall: 
a) Mycoplasma pneumoniae 
b) Klebsiella pneumoniae 

c) Streptococcus pneumoniae 

d) Chlamydia pneumoniae 

e) Actinomyces bovis 

103. All prokaryotes lack: 
a) ribosomes 

b) fimbriae 

c) mitochondria 
d) inclusions 

e) flagella 

104. L-forms of bacteria lack: 
a) plasmids 

b) inclusions 

c) cytoplasmic membrane 

d) ribosomes 

e) cell wall 
105. Hepatitis A is diagnosed by: 
a) biological method 

b) skin test 

c) bacteriological method 

d) serological method 
e) chicken embryo 

106. Hepatitis B is diagnosed by: 
a) bacteriological method 

b) serological method 
c) chicken embryo 

d) biological method 

e) skin test 

107. Serums are sterilized by: 
a) Filtration 
b) Ultraviolet radiation 

c) Hot air oven 

d) Chemical sterilization 

e) Boiling 

108. AIDS is diagnosed by: 
a) bacteriological method 

b) serological method 
c) microscopy 

d) biological method 

e) skin test 

109. AIDS is diagnosed by: 
a) Slide agglutination 

b) ELISA 
c) Latex agglutination 

d) Flocculation 

e) CFT 

110. Escherichia coli is typical inhabitant of: 
a) oral cavity 

b) stomach 

c) skin 

d) small intestine 

e) large intestine 
111. Choose the antibiotic which inhibits cell wall synthesis 
a) lincomycin 

b) fluconasol 

c) nalidixic acid 

d) rifamycin 

e) carbenicillin 
112. Choose the antibiotic which inhibits cell wall synthesis 
a) clindamycin 

b) ciprofloxacin 

c) chloramphenicol 

d) vancomycin 
e) polymyxin E 

113. Choose the antibiotic which inhibits DNA synthesis 
a) clindamycin 

b) ciprofloxacin 
c) chloramphenicol 

d) vancomycin 

e) polymyxin B 

114. Choose the antibiotic which inhibits protein synthesis 
a) clindamycin 
b) ciprofloxacin 

c) cyclocerine 

d) vancomycin 

e) polymyxin E 

115. Choose the antibiotic which is ineffective against Mycoplasma: 
a) tetracycline 

b) penicillin G 
c) doxycycline 

d) azithromycin 

e) clarithromycin 

116. Choose the antibiotic which is used for treatment of mycoses: 
a) nafcillin 

b) cefoxitin 

c) clotrimazole 
d) erythromycin 

e) chloramphenicol 

117. Choose the microorganism which lacks capsule: 
a) Bacillus anthracis 

b) Staphylococcus aureus 

c) Streptococcus pneumoniae 

d) Klebsiella pneumoniae 

e) Leptospira interrogans 
118. Choose the microorganism which is monotrichous: 
a) Escherichia coli 

b) Salmonella enteritidis 

c) Proteus vulgaris 

d) Vibrio cholerae 
e) Pseudomonas aeruginosa 

119. Choose the microorganism which lacks endotoxin: 
a) Escherichia coli 

b) Salmonella enteritidis 

c) Neisseria meningitidis 

d) Streptococcus pyogenes 
e) Pseudomonas aeruginosa 

120. Choose the microorganism which lacks O-antigen: 
a) Klebsiella pneumoniae 

b) Streptococcus pneumoniae 
c) Pseudomonas aeruginosa 

d) Escherichia coli 

e) Salmonella enteritidis 

121. Choose the enzyme which has antiphagocytic activity in virulent bacteria: 
a) coagulase 
b) lecithinase 

c) hyaluronidase 

d) collagenase 

e) DNA-ase 

122. Choose the microorganism, producing neurotoxin: 
a) Streptococcus pyogenes 

b) Bacillus cereus 

c) Proteus vulgaris 

d) Clostridium botulinum 
e) Brucella abortus 

123. Choose the microorganism, producing neurotoxin: 
a) Streptococcus pneumoniae 

b) Bacillus subtilis 

c) Salmonella typhimurium 

d) Bacteroides fragilis 

e) Clostridium tetani 
124. Choose the microorganism which possesses cord-factor: 
a) Mycobacterium tuberculosis 
b) Mycoplasma pneumoniae 

c) Neisseria meningitidis 

d) Streptococcus pneumoniae 

e) Prevotella melaninogenica 

125. Choose the method which is useful for retrospective diagnosis of infection after complete recovery of patient 
a) Bacteriological method 

b) Biological method 

c) PCR 

d) Serological method 
e) Microscopy 

126. Choose the drug which is ineffective in treatment of viral diseases 
a) penicillin G 
b) ribavirin 

c) acyclovir 

d) amantadine 

e) azidothymidine 

127. Choose the drug which is used in treatment of herpesviral diseases 
a) penicillin G 

b) ribavirin 

c) acyclovir 
d) amantadine 

e) azidothymidine 

128. Choose the drug which is used in treatment of influenza 
a) penicillin G 

b) pyobacteriophage 

c) acyclovir 

d) amantadine 
e) azidothymidine 

129. Choose the drug which is used in treatment of AIDS 
a) penicillin G 

b) ribavirin 

c) acyclovir 

d) amantadine 

e) azidothymidine 
130. Choose the doubling time for Mycobacterium tuberculosis: 
a) 14-16 seconds 

b) 14-16 minutes 

c) 14-16 hours 
d) 14-16 days 

e) 14-16 days 

131. Choose the family which contains naked virions: 
a) Picornaviridae 
b) Flaviviridae 

c) Rhabdoviridae 

d) Orthomyxoviridae 

e) Herpesviridae 

132. Choose the viruses which possess the enzyme reverse transcriptase inside the virion: 
a) Retroviruses 

b) Picornaviruses 

c) Reoviruses 

d) Adenoviruses 

e) Orthomyxoviruses 

Correct answers: 1b, 2b, 3c, 4e, 5c, 6c, 7d, 8a, 9a, 10a, 
11a, 12a, 13b, 14b, 15e, 16e, 17d, 18b, 19b, 20a, 
21e, 22d, 23c, 24c, 25e, 26a, 27c, 28b, 29e, 30e, 
31d, 32c, 33a, 34b, 35c, 36b, 37b, 38c, 39a, 40d, 
41b, 42a, 43a, 44d, 45a, 46b, 47a, 48b, 49c, 50a, 
51b, 52b, 53a, 54e, 55b, 56d, 57d, 58b, 59a, 60a, 
61d, 62d, 63a, 64a, 65a, 66c, 67a, 68e, 69b, 70b, 
71a, 72a, 73c, 74a, 75a, 76d, 77a, 78a, 79a, 80e, 
81e, 82c, 83a, 84d, 85c, 86a, 87b, 88c, 89d, 90b, 
91c, 92d, 93b, 94e, 95b, 96b, 97b, 98d, 99b, 100d, 
101c, 102a, 103c, 104e, 105d, 106b, 107a, 108b, 109b, 110e, 
111e, 112d, 113b, 114a, 115b, 116c, 117e, 118d, 119d, 120b, 
121a, 122d, 123e, 124a, 125d, 126a, 127c, 128d, 129e, 130c, 
131a, 132a 
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Microbiology (G.MICROBIOLOGY)

1. Louis Pasteur is associated with all except;

a. Vaccination of small pox 

b. Germ theory 

c. Pasteurization 

d. Vaccination of rabies 

2. Match the following – Scientists Vs Contributions:

A. Edward Jenner                                               I – Rabies, Anthrax 

            B. Louis Pasteur                                                 II – small pox 

C. Albert Calmette, Camile Guerin                  III – Poliomyelitis

D.  Pierre Lepine                                                IV – Tuberculosis
a. A-II, B-III, C-IV, D-I

b. A-II, B-I, C-IV, D-III

c. A-IV, B-I, C-III, D-II

d. A-I, B-IV, C-II, D-III

3. Non motile:

a. Shigella

b. E. Coli 

c. Proteus 

d. Vibrio 

4. Not true about Flagella:

a. Organ of locomotion 

b. Antigenic 

c. Attachment 

d. Proteinaceous

5. All are capsulated except:

a. Klebsiella pneumonia 

b. Hemophilus influenza 

c. Bacillus anthracis

d. Escherichia coli 

6. Which of the eukaryote:

a. Mycoplasma 

b. Bacteria 

c. Fungus 

d. Chlamydia 

7. Eukaryote is:

a. Divide by binary fission 

b. Organised cell organelles 

c. Evolutionally ancient 

d. Ribosome 70S

8. True about bacteria:

a. Mitochondria always absent 

b. Strolls always present in cell wall 

c. Divide by binary fission 

d. Can be seen only under electron microscope 

9. Which is not present in Gram negative bacteria:

a. Peptidoglycan 

b. Teichoic acid 

c. LPS 

d. Porin channels 

10. Correct sequence in Gram staining:

a. Methyl violet – Iodine – Acetone – Carbolfuchsin

b. Carbalfuchsin – Iodine – Acetone – Methyl violet 

c. Methyl violet – Acetone – Iodine – Carbalfuchsin

d. Methyl violet – Carbalfuchsin – Acetone – Iodine 

11. Not used in Gram staining:

a. Methylene blue 

b. Crystal violet 

c. Iodine 

d. Safranin

12. Which of the following is negative staining technique:

a. Gram stain 

b. Fontana stain 

c. India ink 

d. ZN staining

13. All of the following are acid fast bacteria except:

a. Cryptosporidium 

b. Mycoplasma 

c. Mycobacteria 

d. Nocardia

14. Light microscopy resolution:

a. 200 nm 

b. 20 nm 

c. 0.2 nm 

d. 300 nm 

15. Which of the following are AFB positive with 5% sulphuric acid:

a. M. avium

b. M. leprae

c. M. tuberculosis 

d. Nocardia

16. Which of the following is microaerophilic:

a. Campylobacter 

b. Vibrio 

c. Bacteroides

d. Pseudomonas 

17. Growth on a cell – free solid medium is possible for following except:

a. Ureaplasmaurealyticum

b. Mycoplasma pneumonia 

c. C and L from of proteus vulgaris 

d. Chlamydia 

18. Correct sequence of bacterial growth curve:

a. Log phase – Lag phase – Stationary phase – Decline phase

b. Lag phase – Log phase – Stationary phase – Decline phase 

c. Stationary phase – Log phase – Lag phase – Decline phase 

d. Lag phase – Exponential phase – Log phase – Death phase 

e. Exponential phase – Lag phase – Death phase – Stationary phase 

19. Which organism grows in alkaline pH:

a. Klebsella

b. Vibrio 

c. Pseudomonas 

d. E. coli 

20. Antigen activity on bacterial surface occurs due to:

a. Capsular polysaccharide 

b. Flagella 

c. Nuclear membrane 

d. Cell wall 

21. True about exotoxin:

a. LPS in nature 

b. Heat stable 

c. Not antigenic 

d. Toxoid can be prepared 

22. Best method of sera sterilization is:

a. Filtration 

b. Autoclaving 

c. Radiation 

d. Heating 

23. Tyndallisationis a type of:

a. Intermittent sterilization

b. Boiling 

c. Pasteurization 

d. Autoclaving 

24. Which of the following is used to test the efficiency of sterilization in an autoclave:

a. Clostridium tetani

b. Bacillus stearothermophilus

c. Bacillus pumilus

d. Bacillus cereus 

25. Condition required for autoclave is:

a. 121 C temp for 20 min 

b. 121 C temp for 15 min 

c. 100 C temp for 60 min 

d. 100 C temp for 90 min 

26. Which of the following is most resistant to sterilization:

a. Cysts 

b. Prions

c. Spores 

d. Viruses 

27. Which of the following is true about pasteurization:

a. It kills all bacteria and spores 

b. It kills all bacteria except thermoduric bacteria 

c. It kills 95% of microorganism 

d. All bacteria are destroyed 

28. Endoscope is sterilized by:

a. Glutaraldehyde

b. Formaldehyde 

c. Autoclaving 

d. Hot air oven 

29. Phenol coefficient indicates:

a. Efficacy of a disinfectant 

b. Dilution of a disinfectant 

c. Quantity of a disinfectant 

d. Purity of a disinfectant 

30. False about alcohol in disinfection is:

a. Ethanol is used 

b. Isopropyl alcohol is used 

c. Has sporicidal activity

d. Has bactericidal activity

31. Heat labile instruments for use in surgical procedure can be best sterilized by:

a. Absolute alcohol 

b. Ultraviolet rays 

c. Chlorine releasing compounds 

d. Ethylene oxide gas 

32. Recommended transport medium for stool specimen suspected to contain enteric pathogens is:

a. Amie’s medium 

b. Buffered glycerol saline medium 

c. Mac-Conkey medium 

d. Blood agar 

33. Agar cons. In nutrient agar is:

a. 2%

b. 4%

c. 1%

d. 3%

34. Robertson cooked meat broth is an example:

a. Enriched media 

b. Enrichment media 

c. Nutrient medial 

d. Anaerobic media 

35. Blood agar is an example:

a. Enriched media 

b. Enrichment media 

c. Nutrient media 

d. Special media 

36. To prevent swarming the % agar in nutrient agar has to be increased at least to_____%:

a. 2%

b. 4%

c. 6%

d. 8%

37. PCR is used to:

a. Detect target plasmids

b. Amplify small amount of DNA 

c. Seal the cut end of DNA 

d. Clave the bacterial plasmid 

38. Mechanism of direct transfer of free DNA:

a. Transformation 

b. Conjugation 

c. Transduction 

d. None 

39. Phage mediate transfer to cDNA into host is known as:

a. Transduction 

b. Transformation 

c. Transmission 

d. Conjugation 

40. Northern bloting is used for separation of:

a. DNA 

b. RNA

c. Proteins 

d. None 

41. For PCR, Thermusacquaticus plant is used to prepare:

a. DNA polymerase 

b. RNA polymerase 

c. Primers 

d. Restriction endonuclease II

42. Not true about innate immunity:

a. Not influenced by hormones 

b. Dependent on genetic constitution 

c. Identical twins have same degree of resistance 

d. Not influenced by exposure to antigen 

43. Superantigen is produced by:

a. Staphylococcus aureus

b. Streptococcus pneumonia 

c. Pseudomonas 

d. Clostridium 

44. First barrier encountered for microorganism for common exposed sites:

a. Lysozyme 

b. Acidic pH

c. Skin 

d. Glycogen 

45. Which part of bacteria is mostly antigenic:

a. Protein 

b. Carbohydrate 

c. Lipid 

d. Nucleic acid 

46. Superantigens are produced by all the following pathogens, except:

a. Staphylococcus aureus

b. Enterococcus faecalis

c. Rabies virus 

d. HIV

47. A super antigen is a bacterial product that:

a. Binds to B7 and CD28 co-stimulatory molecules 

b. Binds to the beta chain of TCR stimulating T cell activation 

c. Binds to CD4 + Molecules causing T cell activation 

d. Is presented by macrophages to a larger – than : normal number of helper CD4 + lymphocytes 

48. Which of the following statement is true about Hapten:

a. It induced brick immune response 

b. It needs carrier to induce immune response 

c. It is a T: independent antigen 

d. It has no association with MHC

49. Heterophile antibody is found in:

a. Weil felix test 

b. Widal test 

c. Standard agglutination test 

d. All 

50. Action of papain on an IgG molecule produces:

a. 2 fc fragments and 1 fab fragment 

b. 1 fc fragment and 2 fab fragments 

c. 2 fc fragments and 2 fab fragments 

d. 1 fc fragment and 1 fab fragment 

51. Immunoglobulin isotype class switch over is determined by:

a. Constant region of heavy chain 

b. Variable region of heavy chain 

c. Constant region of light chain 

d. Variable region of light chain 

52. Variable portion of an immunoglobulin:

a. Amino terminal 

b. Carboxy terminal 

c. Acid terminal 

d. Amoxy terminal 

53. Which of the following is associated with class specific antigenic determinants of an immunoglobulin:

a. L : chain

b. H : chain 

c. J : chian

d. Variable region 

54. True about an immunoglobulin:

a. IgG has max conc. in serum 

b. IgM has max conc. in serum 

c. IgA has max conc. in serum 

d. IgE has max conc. in serum 

55. Which of the following immunoglobulin can cross placenta:

a. IgA

b. IgM

c. IgG

d. IgD

56. Activator of classical pathway of complement:

a. IgA

b. IgG

c. IgM

d. IgE

57. Pentameric antibody with a J chain is:

a. IgA

b. IgG

c. IgM

d. IgE

58. Which of the first antibody is elevated in fetal life:

a. IgA

b. IgM

c. IgG

d. IgE

59. Immunoglobulin is peyer’s patch is:

a. IgM

b. IgG

c. IgA

d. IgD

60. The secretory component of immunoglobulin molecule is:

a. Formed by epithelial cell of lining mucosa 

b. Formed by plasma cell 

c. Formed by epithelial cell and plasma cell 

d. Secreted by bone marrow 

61. IgE is secreted by:

a. Mast cell 

b. Basophil 

c. Eosinophils

d. Plasma cells 

e. Neutrophils 

62. Which immunoglobulin is scarce in human serum:

a. IgA

b. IgG

c. IgM

d. IgD

e. IgE

63. Which precipitates at 50 to 60 but re dissolve on heating:

a. Bence jones proteins 

b. Heavy chain

c. Both light and heavy chains

d. None 

64. Which of the following acts as an opsonin:

a. C3a

b. C3b

c. C5a

d. LTB4

65. Prozone phenomenon is due to:

a. Excess antigen 

b. Excess antibody 

c. Hyperimmune reaction

d. Disproportionate antigen – antibody levels 

66. Antigen antibody reaction is seen maximum in:

a. Excess antibody 

b. Excess antigen

c. Antigen & antibody are equal 

d. Antigen & antibody are low

67. Compliments act by:

a. They activate Adeny 1 cyclase

b. Inhibits elongation factor 

c. Destruction of cell wall 

d. Increased permability of cell membrane 

68. C – 3 convertase in alternate component pathway:

a. C4b2a

b. C3b

c. C3bBb

d. C3a

69. Which of the following acts as a chemoattractant:

a. C3a

b. C3b

c. C5b

d. LTB4

70. Snake venom acts by:

a. Classical pathway

b. Alternate pathway 

c. Both 

d. None 

71. Which of the following best denote classical complement pathway activation in immune inflammatory condition:

a. C2, C4, C3 decreased 

b. C2 and C4 normal, C3 is decreased 

c. C3 normal and C2, C4 decreased 

d. C2, C4, C3 all are elevated 

72. C3 convertase acts on:

a. C4b2b 

b. C4b2B3a

c. C4b

d. C3

73. T cell dependent region in lymph node:

a. Cortex 

b. Medulla 

c. Paracortical area 

d. Mantle layer 

74. The following features are common to T and B-lymphocytes except:

a. Site of origin 

b. Site of differentiation 

c. Stimulated by Cytokines 

d. Memory 

75. Rosette formation sheep RBC is mediated by:

a. T cells

b. B cells 

c. NK cells 

d. Macrophages 

76. All of the following are functions of CD4 helper cells, except:

a. Immunogenic memory 

b. Produce immunoglobulins

c. Activate macrophages 

d. Activate cytotoxic cells 

77. Which of the following is a pan T lymphocyte :

a. CD2

b. CD3

c. CD19

d. CD25

78. Apart from T and B lymphocytes, the class of lymphocytes is:

a. Macrophages 

b. Astrocytes

c. NK cells 

d. Langerhans cells 

79. Regarding NK cells, false statement is:

a. It is activated by IL – 2 

b. Expresses CD3 receptor 

c. It is variant of large lymphocyte

d. There is antibody induced proliferation of NK cells 

80. All are true about NK cells except:

a. Processes CD16

b. Processes CD56

c. Important role in virus infected cell 

d. Produces complement factors 

81. MHC molecules are coded by:

a. Chromosome – 6

b. Chromosome – 7 

c. Chromosome – 8 

d. Chromosome – 9 

82. Gene coding for MHC – I include:

a. A, B, C 

b. DR

c. DP

d. DQ

83. Type 1 hypersensitivity includes all of the following except:

a. Autoimmune haemolytic anemia

b. Anaphylaxis 

c. Extrinsic asthma 

d. Hay fever 

84. Allergic rhinitis is an example of:

a. Type – I hypersensitivity reaction 

b. Type – II hypersensitivity reaction 

c. Type – III hypersensitivity reaction 

d. Type – IV hypersensitivity reaction

85. The type of hypersensitivity reaction in Myasthenia gravis is:

a. Type I

b. Type II

c. Type III

d. Type IV

86. 2 days after penicillin administration antibodies developed that resulted in haemolysis. Which type of hypersensitivity reaction is this:

a. Type I

b. Type II

c. Type III

d. Type IV

87. Which of the following is type IV hypersensitivity reaction:

a. Arthus reaction 

b. Serum sickness 

c. Schwartzman reaction 

d. Granulomatous disease 

88. A woman with infertility receives an ovary transplant from her sister who is an identical twin. What type of graft is:

a. Xenograft

b. Autograft

c. Allograft 

d. Isograft

89. Staphylococcal scalded skin syndrome is caused by:

a. Hemolysin

b. Coagulase 

c. Enterotoxin 

d. Epidermolytic toxin 

90. Catalase positive, beta haemolytic staphylococcus:

a. S. aureus

b. S. epidermidis

c. S. saprophyticus

d. None 

91. Catalase positive coagulase negative beta haemolytic bacteria:

a. Strep pyogenes

b. Staph aureus

c. Coagulase negative staph 

d. Enterococci 

92. What is the best way to control the outbreak of MRSA infection in a hospital ward:

a. Vancomycin is given empirically to all the patients

b. Frequently fumigation of wards

c. Wearing mask before invasive procedure 

d. Washing of hands before & after treating the patients

93. A person has infection due to gram positive organism treated with methicillin and then culture sensitivity shows resistance to it. Hence all can be given in MRSA except:

a. Cotrimoxazole

b. Cefaclor

c. Vancomycin

d. Ciprofloxacin 

94. Preformed toxin produces diarrhea in which organism:

a. Streptococcus aureus

b. Vibrio cholera 

c. Salmonella 

d. Escherichia coli 

95. A patient in ICU is on a CVP line. His blood culture shows growth of gram positive cocci which are Catalase positive and coagulase negative. The most likely etiological agent is:

a. Staphylococcus aureus

b. Staphylococcus epidermidis

c. Streptococcus pyogenes

d. Enterococcus faecalis

96. Catalase negative beta haemolytic streptococci is:

a. Str. Pneumoniae

b. Str. Pyogenes

c. Str. Viridans

d. Enterococcus 

97. Lancefield grouping of streptococci is done by using:

a. M protein

b. Group C peptidoglycan cell wall 

c. Group C carbohydrate antigen 

d. Staining properties 

98. 11 years old child presented with sore throat since 3 days, which medium is used to culture the throat swab:

a. Blood agar 

b. L J medium 

c. Stewart medium 

d. Chocolate agar 

99. False regarding streptococcus pyogenes:

a. Causes necrotizing fasciitis 

b. Beta haemolytic 

c. M protein is virulence factor 

d. Resistant of bacitracin 

100. Which streptococcal antigen cross reacts with synovial fluid:

a. Carbohydrate (Group A)

b. Cell wall protein 

c. Capsular hyaluronic acid 

d. Peptidoglycan 

101. An outbreak of streptococcal Pharyngitis occurred in a village. In order to carry out the epidemiological investigations, it is necessary to perform the culture of the throat swab of the patients suffering from the disease. The transport media of choice would be:  

a. Salt mannitol media 

b. Pike’s media 

c. Stuart’s media 

d. Cary Blair media

102. A child present with sepsis. Bacteria isolated showed beta hemolysis on blood agar, resistant to bacitracin and a positive CAMP test. The most probable organism is:

a. S. pyogenes

b. S. agalactiae

c. Enterococcus 

d. Pneumococcus 

103. A patient admitted to an ICU is on central venous line for the last one week. He is on ceftazidime  andamikacin. After 7 days of antibiotics he develops a spike of fever and his blood culture is positive for gram positive cocci in chains, which are catalase negative. Following this, vancomycin was started but the culture remained positive for the same organism even after 2 weeks of therapy. The most likely organism causing infection is:

a. Staphylococcus aureus

b. Viridans streptococci 

c. Enterococcus faecalis

d. Coagulase negative staphylococcus 

104. A person presents with pneumonia. His sputum was sent for culture. The bacterium obtained was gram positive cocci in chains and alpha haemolytic colonies on sheep agar. Which of the following will help in confirming the diagnosis:

a. Novobiocin

b. Optochin

c. Bacitracin 

d. Oxacillin

105. “C” in C reactive protein stands for:

a. Capsular polysaccharide in Pneumococcus

b. Concanavalin-a

c. Calretinin

d. C-carbohydrate antigen 

106. The most common organism causing acute otitis media is:

a. H. influenza 

b. S. pneumonia 

c. M. catarhalis

d. S. aureus

107. Waterhouse friedrichen syndrome is a complication seen in infection with:

a. Neisseria gonorrhoea 

b. Neisseria meningitides 

c. Escherichia coli 

d. Mycobacterium tuberculosis 

108. A woman having sore throat with high grade fever with headache, nausea and vomiting. On examination, she is having RR of 36/min, temperature of 39 degree and BP of 80/50 mm Hg. On her arm some red spots are seen distal to BP cuff. The probable diagnosis is:

a. N. meningitides 

b. Brucellasuis

c. Brucellaabortus

d. Staph. Aureus

109. Which among the following differentiated Neisseria meningitides from Neisseria gonorrhoea:

a. It is oxidase positive 

b. It ferments glucose 

c. It ferments maltose

d. It reduces nitrates 

110. Which of the following is not found in meningococci:

a. Peptidoglycan 

b. Plasmid 

c. Mitochondria

d. Capsule 

111. Xavier and Yogendra stay in the same hostel of same university. Xavier develops infection due to group B meningococcus. After few days Yogendra develops infection due to group C Meningococcus. All of the following are true statement except:

a. Educate students about meningococcal transmission and take preventive measures

b. Chemoprophylaxis to all agents both group B and C

c. Vaccine prophylaxis of contact of Xavier 

d. Vaccine prophylaxis of contact of Yogendra

112. Which of the following is not true about Neisseria gonorrhoea:

a. It is an exclusive human pathogen 

b. Some strains may cause disseminated disease 

c. Acute urethritis is the most common manifestation in males 

d. All strains are highly sensitive to penicillin 

113. All are true about Neisseria gonorrhoea except:

a. Gram positive cocci

b. Cause stricture of urethra 

c. Involves seminal vesicles and spread to Epididymis 

d. Drug of choice is ceftriaxone 

114. Selective medium for Gnococci:

a. Thayer –Martin medium 

b. L J medium 

c. DCA medium 

d. MacConkey medium

115. Bull neck is seen in:

a. Tuberculosis lymphadenitis 

b. Diphtheria 

c. Goitre 

d. Lymphoma 

116. True about Corynebacterium diphtheria:

a. All types produce toxin

b. Toxin production is dependent upon critical concentration of iron 

c. Coded by plasmid 

d. Inhibit cAMP

117. False about C diphtheria is:

a. Toxin production is chromosome mediated 

b. Iron is required for toxin production 

c. Toxin inhibits protein synthesis 

d. Non toxigenic strain also cause infection 

118. A 12 years old child presents with fever and cervical lymphadenopathy. Oral examination shows a grey membrane on the right tonsil extending to the anterior pillar. Which of the following medium will be ideal for the culture of the throat swab for a rapid identification of the pathogen:

a. Nutrient agar 

b. Blood agar 

c. Loffler’s serum slope 

d. Lowenstein Jensen medium 

119. Positive schick’s test indicates that person is:

a. Immune to diphtheria 

b. Hypersensitive to diphtheria 

c. Susceptible to diphtheria 

d. Carrier to diphtheria 

120. Schick test doesn’t indicate:

a. Immunity to diphtheria 

b. Susceptibility to diphtheria 

c. Carrier to diphtheria 

d. Hypersensitivity to diphtheria 

121. An abattoir worker presented with a malignant pustule on his hand that progressed to form an ulcer. Smear was taken from the ulcer and sent to laboratory for investigation. The diagnosis is:

a. Cutaneous anthrax 

b. Carbuncle

c. Ulcerating melanoma 

d. Infected rodent ulcer 

122. Bacillus anthracis, false statement is:

a. Gram negative 

b. Bacilli in long chain 

c. Non haemolytic colony in blood agar 

d. Medusa head appearance on nutrient agar 

123. Non-invasive diarrhoea is due to:

a. Shigella

b. Salmonella 

c. B. cereus 

d. Y. enterocolitica

124. Chinese restaurant syndrome after eating fried rice and vanilla sauce is due to:

a. Clostridium perfringens

b. Bacillus cereus 

c. Staphylococcus aureus

d. Clostridium botulinum

125. Clostridia are:

a. Gram positive aerobe 

b. Gram positive obligate anaerobe

c. Gram negative rods 

d. Gram negative bacillus 

126. Non motile clostridia is:

a. Cl. Perfringens

b. Cl. Novyi

c. Cl. Botulinum

d. Cl. Difficile

127. Regarding Clostridium perfringens gas gangrene, false is:

a. Common cause of gas gangrene 

b. Nagler reaction positive 

c. Most common toxin is Hyaluronidase

d. Food poisoning strain of Clperfringens produce heat resistant spores 

128. The following statements are true regarding Clostridium perfringens except:

a. It is the commonest cause of gas gangrene 

b. It is the normally present in human faeces 

c. The principal toxin of C perfringens is the alpha toxin 

d. Gas gangrene producing strains of C perfringens produce heat resistant spore 

129. Regarding gas gangrene one of the following is correct:

a. It is due to clostridium botulinum infection 

b. Clostridia species are gram negative spore forming anaerobes 

c. The clinical features are due to the release of protein endotoxin 

d. Gas is invariable presents in the muscle compartments 

130. Wrong about Cl. Tetani:

a. Main reservoir-soil, human & animal intestine 

b. MC mode of transmission – trauma & contaminated wound 

c. Herd immunity – not useful 

d. MC season – winter and dry 

131. Period of communicability for tetanus:

a. 7 days 

b. 14 days 

c. 21 days 

d. None 

132. A person has got a non-penetrating wound 11 hrs back. He has taken complete course of TT 1 year back. What treatment is recommended next:

a. Full course of tetanus toxoid 

b. Single dose of tetanus toxoid 

c. Nothing required 

d. Human tet globulin and single dose of toxoid 

133. Botulisin causes:

a. Descending flaccid paralysis

b. Descending spastic paralysis 

c. Ascending paralysis 

d. Ascending spastic paralysis 

134. Pseudomembranous colitis is caused by:

a. Clostridium perfringens

b. Clostridium difficile

c. Clostridium tetani

d. Clostridium botulinum

135. Niacin test is not positive in:

a. Mycobacterium tuberculosis 

b. Mycobacterium cheloneii

c. Mycobacterium bovis

d. Mycobacterium simiae

136. The following media can be used to culture Mycobacterium tuberculosis except:

a. Dorset’s egg

b. Middlebrook 7H10

c. L J medium 

d. McLeod’s medium 

137. Most appropriate method to assess the prevalence of tuberculosis in community:

a. Tuberculin test 

b. Sputum examination 

c. Clinical examination 

d. Chest X ray 

138. Which of the following statements is not true about BCG vaccination:

a. Distilled water or normal saline is used as diluents for BCG vaccine 

b. The site for injection should be cleaned thoroughly with spirit 

c. Tuberculin test is positive after 6 weeks of vaccination 

d. WHO recommends Danish 1331 strain for vaccine production 

139. The best diagnosis procedure of tuberculosis:

a. PCR

b. Auraminrhodamine stain 

c. Sputum culture 

d. ESR

140. True about Mantoux is:

a. False negative in fulminant diseases 

b. If ones done, next time it is always positive 

c. Results are given in term of positive and negative 

d. Induration given is terms of length and breath 

e. Always indicate active TB infection 

141. Tuberculin test is done for:

a. Previous or present sensitization to tuberculous protein 

b. Patient is resistant to TB

c. Patient is susceptible to TB

d. Individual is suffering from TB

142. Fish tank granuloma is caused by:

a. M. kansasi

b. M. marinum

c. M. paratuberculosis

d. M. gordonae

e. M. scrofulaceum

143. Which is not a mycobacteria tuberculosis complex organism:

a. M. africanum

b. M. tuberculosis 

c. M. bovis

d. M. kansasi

144. False about leprosy:

a. Multi bacillary leprosy : > lesions 

b. New case detection rate : indicator of incidence

c. Target elimination of leprosy : prevalence population 

d. Defaulter – not taken treatment for > 6 months 

145. Mitsuda reaction is read at:

a. 3rd day 

b. 10th day 

c. 21st day 

d. 45th day 

146. Lepromin test is valuable for:

a. Diagnosis 

b. Response to treatment 

c. Epidemiological reason 

d. To test humoral immunity 

147. Leprosy affects all except:

a. Testes

b. Ovary 

c. Eye 

d. Nerve 

148. Leprae bacilli doubling time:

a. 20 hrs

b. 20 minutes

c. 12 days 

d. 20 days

149. Which of the following microbes has enterotoxigenic ,enterohaemorrhagic, enteropathogenic and enteroinvasive strains:

a. Shigella

b. Salmonella 

c. Vibrio cholera 

d. Escherichia coli 

150. MC cause of diarrhoea in children of developing country is:

a. EHEC

b. ETEC

c. EPEC

d. EIEC

151. In E. coli true is:

a. ETEC is invasive 

b. EPEC acts via cAMP

c. Pilli present in uropathogenic type 

d. ETEC causes HUS

152. A 20 years old man presented with haemorrhagic colitis. The stool sample grew Escherichia coli in pure culture. The following serotype of E. coli is likely to be causative agent:

a. O157:H7

b. O159:H9

c. O107:H7

d. O55:H7

153. Sereny test is employed for laboratory diagnosis of:

a. Enterotoxigenic E. coli 

b. Enteropathogenic E. coli 

c. Enterohaemorrhagic E. coli 

d. Enteroinvasive E. coli 

154. A young lady presents with fever, dysuria and pain abdomen. Uncomplicated acute cyctitis was diagnosed. Which among the following is not true:

a. E. coli count was < 103/ ml 

b. 1 pus cell per 7 fields 

c. 1 bacilli per field 

d. Nitrate test positive 

155. Drug agents ESBL producing Pseudonomas:

a. Ceftriaxone + Piperacillin

b. Ceftriaxone + Tazobactam

c. Piperacillin + Tazobactam

d. Ceftriaxone + Piperacillin + Tazobactam

156. Which of the following toxins acts by inhibiting protein synthesis:

a. Cholera toxin 

b. Shiga toxin 

c. Pertussis toxin 

d. LT of enterotoxigenic E. coli 

157. Salmonella Typhi is the causative agent of typhoid fever. The infective dose of S. Typhi is:

a. One bacillus 

b. 108 - 1010 bacilli 

c. 102 – 105 bacilli 

d. 1 - 10 bacilli

158. A 15 years old girl had splenomegaly, leucopenia, fever and died in a few days. Longitudinal ulcers were found in intestine. What should be the probable diagnosis:

a. Typhoid 

b. Tuberculosis 

c. Amoebiasis

159. Regarding typhoid fever all are true except:

a. Mostly affect 3-4th decades 

b. Man in the only reservoir 

c. Can cause perforation of intestine 

d. Rose spots seen in 2nd week of illness 

160. A 24 years old cook in a hostel mess suffered from enteric fever 2 years back. The chronic carrier state in this patient can be diagnosed by:

a. Vi agglutination test

b. Blood culture in Brain Heart infusion broch

c. Widal test 

d. Bone marrow culture

161. DOC for typhoid carrier:

a. Ampicillin 

b. Chloramphenicol 

c. Cotrimoxazole

d. Clindamycin 

162. True about typhoid:

a. Female carriers – less common 

b. Male carriers are less common but more dangerous 

c. Gall bladder not involved in carriers 

d. Tetracycline – DOC

163. Farmer presents with the features of high fever, painful inguinal lymphadenopathy, vomiting and diarrhoea and hypotension. Which stain will help in the diagnosis:

a. Neisser stain 

b. Wayson’s stain 

c. Albert’s stain 

d. Mcfadyean’s stain 

164. Highly infectious plague:

a. Bubonic plague 

b. Pneumonic plague 

c. Septicemic plague

d. Any of the above 

165. Invasive infections caused by all except:

a. Shigella

b. Salmonella

c. V. cholera 

d. Yersinia 

166. True about cholera:

a. Gram negative rod 

b. Associated with fever 

c. Causes painful watery diarrhoea 

d. It is an achlorydria which renders an individual susceptible to disease 

167. Which is not true about Vibrio cholera:

a. It is non halophilic

b. Grows on simple media 

c. Man is the only natural host 

d. Cannot survive in extracellular environment 

168. Which of the following is the drug of choice of chemoprophylaxis of cholera:

a. Tetracycline 

b. Doxycycline 

c. Furazolidone

d. Cotrimoxazole

169. DOC of cholera in children:

a. Tetracycline 

b. Doxycycline 

c. Furazolidone

d. Cotrimoxazole

170. Best disinfectant for cholera stool:

a. Bleaching powder 

b. Cresol 

c. Formalin 

d. Alcohol

171. Type of diarrhoea in Vibrio cholera:

a. Osmotic 

b. Secretory 

c. Colloidal 

d. Bloody 

172. Drug against ESBL producing pseudomonas:

a. Ceftriaxone + Piperacillin

b. Ceftriaxone + Tazobactam

c. Piperacillin + Tazobactam

d. Ceftriaxone + Piperacillin + Tazobactam

173. An organism grown on agar shows green colored colonies likely organism is:

a. Staphylococcus 

b. Streptococcus 

c. Pseudomonas 

d. E. coli 

174. The following statement are true regarding melioidosis except:

a. It is caused by Burkholdria mallei 

b. The agent is a gram negative aerobic bacteria 

c. Bipolar staining of the etiological agent is seen with methylene blue stain 

d. The most common from meliodiosis is pulmonary infection 

175. Capsular polysaccharide constitutes an important virulence factor responsible for protective antibody response in infections caused by all the following bacteria except:

a. Haemophillus influenza 

b. Streptococcus pneumonia 

c. Neisseria meningitides 

d. Bordetellapertussis 

176. Disease caused by Haemophillus:

a. Chancroid

b. Influenza 

c. Acute epiglottitis 

d. Brain abscess 

e. Brazilian purpuric fever 

177. Milk ring test is seen in:

a. Brucellosis 

b. Tuberculosis 

c. Bacteroides

d. Salmonellosis 

178. Malta fever is caused by:

a. Treponemapallidum

b. Borreliaburgdorferi

c. Brucellamelitensis

d. Pseudomonas aeruginosa

179. Stain for treponema:

a. Fontana’s 

b. Acid-fast 

c. Methenamine – silver 

d. PAS 

180. A new born premature baby presented with bullous lesions on skin and a knee. X ray shows periostits. Best investigation for diagnosis is:

a. VDRL from mother and baby 

b. PCR for tuberculosis 

c. HBsAg detection 

d. ELISA for HIV

181. True about VDRL test:

a. Non-specific 

b. Slide flocculation test 

c. Best followed for drug therapy 

d. All 

182. Bejel is caused by:

a. Treponemapertenue

b. Treponemacaratenum

c. Treponemapallidum

d. Treponemaendemicum

183. Lyme’s disease is caused by:

a. Borreliaparkeri

b. Borelliaburgdoferi

c. Borreliarecurrentis

d. Borreliahermsi

184. Leptospirosis is transmitted by:

a. Rat 

b. Cat 

c. Dog

d. Fish 

185. Which one of these is true regarding Leptospirosis:

a. Rat is the principle animal reservoir 

b. Transmission is oro-faecal 

c. Renal and hepatic involvement is seen in half of the affected children 

d. Fluoroquinolories are the drug of choice 

186. Which of the following is not used to diagnose Leptospirosis:

a. Microscopic agglutination test 

b. Dark field microscopy 

c. Macroscopic agglutination test 

d. Well-felix reaction 

187. Well felix reaction for scrub typhus shows positivity for:

a. OXK

b. OXK & OXI9

c. OX-2

d. OX-19

188. Neil mosser reaction or tunica reaction is useful to differentiate between:

a. R. prowazekii and R. typhi

b. R. typhi and R. rickettsii

c. R. prowazekii and R. rickettsii

d. R. rickettsii and C. burnetti

189. Q fever is caused by:

a. Rickettsia typhi

b. Coxiellaburnettii

c. Salmonella 

d. Escherichia coli

190. Mode of transmission of Q fever:

a. Bite of infected louse

b. Bite of infected tick 

c. Inhalation of aerosol 

d. Bite of infected mice 

191. A lady recently returned from USA, presented with fever and rashes, 1 week later of exposure of tick:

a. Epidemic typhus 

b. Scrub typhus 

c. RMS

d. Oraya fever 

192. True about chlamydia are all except:

a. Obligate intracellular organism 

b. Gram positive 

c. Reticulate body is metabolically active 

d. Replicated by biniary fusion 

193. Inclusion body is seen in:

a. Rickettsia 

b. Chlamydia 

c. Mycoplasma 

d. H. pylori 

194. In a patient with urethral syndrome, urine microscopy shows full of polymorph, but no bacteria. The most appropriate culture medium is:

a. Mc’coy cell 

b. Thayer martin 

c. Cooked meat 

d. PPLO broth 

195. All of the following statements about Chlamydia trachomatis are true except:

a. Genital chlamydial infections are often asymptomatic 

b. Can be cultured 

c. Inclusion conjunctivitis is caused by C. Trachomatis serotype D-K 

d. Penicillin is the treatment of choice 

196. Chlamydia psittacosis all are true except:

a. Acquired from bird’s droppings 

b. Causes urethritis 

c. Causes pneumonia 

d. Treatment is tetracycline 

197. A 32 years female is presented with vaginal discharge resembling chlamydial urethritis. Most sensitive test for diagnosing this condition is:

a. Nucleic acid amplification test 

b. Gram stain 

c. Culture on McCoy cell line 

d. Serum antibody detection by MIF 

198. Which of the Chlamydia species is having one serotype:

a. Chlamydia psittaccii

b. Chlamydia trachomatis 

c. Chlamydia pneumophilla

d. All of the above 

199. Pried egg colonies are produced by:

a. Chlamydia 

b. Mycoplasma 

c. Neisseria 

d. Diphtheria 

200. Gram positive short rods are seen in the CSF sample of a new born child suffering from lethargy, fever and seizure. Organism responsible is:

a. Group B streptococcus 

b. Listeria 

c. Clostridium tetani

d. Bacillus anthracis

201. Tumbling motility is shown by:

a. Listeria monocytogenes

b. Proteus vulgaris 

c. Borrelia

d. Clostridia 

202. A 39 years old female comes with high grade fever and signs suggesting meningitis. On CSF examination a gram positive bacilli was isolated. The organism involved is:

a. Streptococcus pneumonia 

b. Listeria monocytogenes

c. H. influenza 

d. Staph aureus

203. Legionnaire disease is caused by:

a. Motile gram positive 

b. Motile gram negative 

c. Non-motile gram positive 

d. Non-motile gram negative 

204. Legionella penumophila spreads by:

a. Person to person 

b. AC Aerosol 

c. Infected meat 

d. Contaminated air 

205. An elderly man presented with fever and cough. Sputum examination revealed with gram negative organisms that were grown on buffered charcoal yeast extract agar. The organism involved is:

a. H. influenza 

b. Legionella neumophilia

c. Burkholderiacepacia

d. Brucella

206. Which of the following is an eg. of RNA oncogenic virus:

a. Retroviruses 

b. Reoviruses

c. Coronaviruses 

d. Roboviruses

207. Brick-shaped virus:

a. Chicken pox 

b. Small pox 

c. CMV

d. EBV

208. Both DNA and RNA are found in:

a. All bacteria 

b. Prion 

c. Viroid 

d. Plasmid 

209. The most common cause of sporadic viral encephalitis is:

a. Japanese B encephalitis 

b. Herpes simplex encephalitis 

c. HIV encephalitis 

d. Rubella encephalitis 

210. Shingles are seen in:

a. IMN

b. Herpes zoster 

c. Chicken pox 

d. Small pox 

211. Congenital varicella infection caused all except:

a. Microcephaly 

b. Limb hypoplasia 

c. Cortical atrophy 

d. Cataract 

212. Varicella zoster remains latent in:

a. Lymphocytes 

b. Monocytes 

c. Trigeminal ganglion 

d. Plasma cells 

213. A patient is suffering from painful vasicular eruption at T-4 dermatome. The cause is:

a. EBV infection  

b. Herpes zoster 

c. CMV infection 

d. Herpes simplex 

214. A person with renal transplant developed infection of graft within 2 months. Most probable cause of infection is:

a. Polyoma BK virus 

b. CMV

c. Hepatitis C

d. Herpes simplex virus 

215. Lymphocytosis with atypical lymphocytes are seen in infection with:

a. HSV

b. HBV

c. EBV

d. RSV

216. Paul Bunnel test is done for:

a. HBV

b. EBV

c. CMV

d. HIV

217. EBV causes all except:

a. Kaposi sarcoma 

b. Infectious monocytosis

c. Burkit lymphoma 

d. Ducan’s disease 

218. Epstein Barr virus causes all the following except:

a. Infectious mononucleosis 

b. Measles 

c. Nasopharyngeal carcinoma 

d. Non Hodgkin lymphoma 

219. HHV-8 causes:

a. Burkitt’s lymphoma 

b. Nasopharyngeal carcinoma 

c. Kaposi sarcoma 

d. Heaptic carcinoma 

220. Bollinger bodies are seen in:

a. Chicken pox 

b. Cow pox 

c. Fowl pox 

d. Small pox 

221. Small pox eradication was successful due to all except:

a. Subclinical cases didn’t transmit disease 

b. Highly effective vaccine 

c. Infection provides lifelong immunity 

d. Cross infection occurs from animal pox viruses 

222. Which of the following is not a pox virus:

a. Cow pox 

b. Molluscumcontagiosum

c. Small pox 

d. Chicken pox 

223. Pharyngoconjunctival fever is caused by:

a. Adeno virus 

b. Parainfluenza

c. Coxakie viruses 

d. All of the above 

224. Space vehicle virus is:

a. Reovirus

b. Rhabdo virus 

c. Retrovirus 

d. Adenovirus 

225. Slapped cheek sign is seen in:

a. Parvovirus B19

b. JC virus 

c. Rota virus 

d. Mumps 

226. All of the following statements about parvovirus B-19 are true except:

a. DNA virus 

b. Crosses placenta in only <10% of cases 

c. Can cause severe anemia

d. Can cause aplastic crises 

227. In parvovirus infection what is common in adult:

a. Bone marrow aplasia 

b. Prca

c. Erythema infectiosum

d. Arthropathy

228. Condyloma acumination is caused by:

a. HSV

b. HPV

c. HIV

d. VZV

229. Most common serotype of HPV causing CaCx:

a. HPV 6

b. HPV 11

c. HPV 16

d. HPV 33

230. Avian influenza is due to:

a. H1N1

b. H3N1

c. H5N1

d. H7N1

231. Reason for H5N1 influenza not becoming a pandemic:

a. Man to man transmission is rare 

b. No human to human transmission occurs 

c. Less virulent 

d. Bird to bird transmission is not efficient 

232. Antigenic Variation is seen in all except:

a. Influenza Type A

b. Influenza Type B

c. Influenza Type C

d. None of the above

233. Which of the following vaccination is not needed in 70 years elderly male:

a. Measles 

b. Tetanus 

c. Hepatitis 

d. Typhoid 

234. Least common complication in measles:

a. Diarrhoea 

b. Pneumonia 

c. Otitis media 

d. SSPE

235. Measles true is:

a. IP 10 days 

b. Infectious 4 days before rash 

c. Koplik’s spot seen

d. All of the above 

236. Carrier state is not important in transmission of:

a. Measles 

b. Typhoid 

c. Polio 

d. Diphtheria 

237. Commonest complication of mumps is:

a. Orchitis and oophritis

b. Encephalitis 

c. Pneumonia 

d. Myocarditis 

238. Regarding respiratory viruses all are true except:

a. RSV is the most common cause of bronchiolitis in infants 

b. Mumps causes septic meningitis in adult 

c. Measles causes SSPE

d. EBV causes pleuritis

239. Classic triad of congenital rubella includes all except:

a. Cataract 

b. Deafness 

c. Retinal detachment 

d. CHD

240. All are true about congenital rubella except:

a. IgG persists for more than 6 months 

b. IgM antibody is present at birth 

c. Most common anomalies are hearing and heart defects 

d. Increased congenital malformation if infection after 16 weeks 

241. A new born presents with PDA and cataract. Infection with which group of virus is likely to be the cause:

a. Rubella 

b. Togavirus

c. Measles 

d. Chicken pox 

242. All are mosquito borne viral fever except:

a. Dengue 

b. Kysanur forest disease 

c. Yellow fever 

d. Japanese encephalitis 

243. In Japanese Encephalitis, pigs acts as:

a. Amplifier 

b. Definitive host 

c. Intermediate host 

d. Any of the above 

244. Vector for Japanese encephalitis:

a. Culex

b. Anopheles 

c. Aedes

d. Tick 

245. Dengue haemorrhagic fever is caused by:

a. Type I dengue virus 

b. Reinfection with same serotype of dengue virus 

c. Reinfection with a different serotype of dengue virus 

d. Infection in an immune compromised host 

246. Dengue virus appears to have a direct man-mosquito-man cycle in India. The mechanism of dengue virus survival in inter epidemic period is:

a. Non humanreservoir 

b. Dormant of latent phase 

c. Transovarian transmission in Aedes

d. Poor housekeeping in public 

247. Vector of dengue virus:

a. Aedesaegypti

b. Aedesalbopictus

c. Aedespolynesiensis

d. Aedesscutellaris

248. Rabies is identified by:

a. Gaurneri bodies 

b. Negri bodies 

c. Cowdry A bodies 

d. Cowdry B bodies 

249. Rabies free zone in India:

a. Lakshadweep Island 

b. Rajasthan 

c. Sikkim 

d. Nagaland 

250. Anti-Rabies vaccine is prepared by:

a. Street virus 

b. Fixed virus 

c. Live virus 

d. Wild virus 

251. For the treatment of case of class III dog bite, all of the following are correct except:

a. Give Ig for passive immunity 

b. Give ARV

c. Immediate stitch wound under antibiotic coverage 

d. Immediate wash wound with soap and water 

252. Which of the following is locally injected in class III dog bites:

a. Antibiotic solution 

b. Tetanus toxoid 

c. Anti-rabies serum 

d. Rabies vaccine 

253. Dog bite in palm finger with oozing of blood from neck. Belongs to which class exposure:

a. Class I

b. Class II

c. Class III 

d. None 

254. A boy got unprovoked bite from a neighbour’s dog. The animal control authority caught the dog and it was found to be healthy. What will be the next step:

a. Test antibody level of dog

b. Withhold immunisation and observe dog for 10 days for sign of rabies 

c. Start post exposure prophylaxis and which the dog for 10 days 

d. Kill the dog and watch for negri body in brain

255. The correct statement about Hepatitis A is all except:

a. It is a non-cultivable virus 

b. It belongs to enterovirus

c. Vaccines are available 

d. Chronicity is the hallmark of disease 

256. Which of the following hepatitis viruses is a DNA virus:

a. Hepatitis C virus 

b. Hepatitis B virus 

c. Delta agent 

d. Hepatitis E virus 

257. Which of the following hepatitis virus have significant perinatal transmission:

a. HEV

b. HCV

c. HBV

d. HAV

258. Nurse is presented with HBsAg and HBeAg. What does it indicate:

a. Acute infectious hepatitis 

b. Infection with HBV and HEV

c. Acute non-infectious hepatitis 

d. Chronic Hepatitis B infection 

259. Marker for diagnosing acute hepatitis B in 2-5 weeks:

a. IgM Anti HBc

b. HBsAg

c. Anti HCV

d. HBeAg

260. Serological testing of patient shows HBsAg. IgM anti HBc and HBeAg positive. The patient has:

a. Chronic hepatitis B with low infectivity 

b. Acute hepatitis B with high infectivity 

c. Chronic hepatitis with high infectivity 

d. Acute on chronic hepatitis 

261. First antibody to appear in hepatitis:

a. IgM anti-HBe

b. IgG anti-HBe

c. IgM anti-HBc

d. IgM anti-HBs

262. Hepatitis B vaccination is given to a patient. His serum will reveal:

a. HBs Ag

b. Anti-HBs Ag

c. IgM anti-HBc Ag and HBs Ag

d. IgM and IgG anti-HBc Ag

263. A blood donor is not considered for safe transfusion, if he has:

a. Anit HBs Ag positive 

b. Anti HBs Ag and HBc Ag positive

c. HBs Ag positive and IgM anti HBc positive 

d. Anti HBc positive 

264. Which of the following statements about Hepatitis “C” is true:

a. DNA virus 

b. Most common indication for liver transplant 

c. Does not cause liver cancer 

d. Does not cause coinfection with hepatitis B

265. Hepatitis C virus is a:

a. Togavirus

b. Flavivirus

c. Filovirus

d. Retrovirus 

266. HBV and HDV false is:

a. Both can infect simultaneously 

b. HDV causes more serious infection due to superinfection

c. HDV cannot infect in absence of HBV

d. HDV is a DNA virus 

267. Causative agent of AIDS was discovered in:

a. 1983

b. 1976

c. 1994

d. 1967

268. What is p24:

a. Envelop antigen in HIV

b. Genome of HIV

c. Core antigen in HIV

d. Shell antigen 

269. HIV infects more commonly:

a. CD4 + helper cells 

b. CD8 + cells 

c. Macrophage 

d. Neutrophils 

270. HIV virus contains:

a. Single stranded DNA 

b. Single stranded RNA 

c. Double stranded DNA 

d. Double stranded RNA

271. The most common organism amongst the following that causes acute meningitis in an AIDS patients is:

a. Streptococcus pneumonia 

b. Streptococcus agalactiae

c. Cryptococcus neoformans

d. Listeria monocytogenes

272. In a patient having HIV infections, oral ulcer is most commonly due to:

a. Candida 

b. Cryptococcosis

c. Histoplasma

d. Trichophyton

273. True about HIV are all except:

a. In India mainly it is caused by HIV-1

b. Vertical transmission – Most Common mode 

c. IV drug abuse – Increases the risk 

d. Paramedical workers – are at higher risk 

274. All are true about viral genome of HIV except:

a. Two strands of RNA

b. Contains DNA dependent DNA polymerase 

c. Contains – gag, pol, env genes 

d. Most complex retrovirus 

275. Most common opportunistic infection in HIV positive patient in India is:

a. M. tuberculosis 

b. Cryptococcus 

c. Candida 

d. Cryptosporidiosis 

276. Most sensitive test for HIV infection:

a. Western blot 

b. ELISA

c. Agglutination test 

d. CFT

277. HIV can be detected and confirmed by:

a. Polymerase Chain Reaction (PCR)

b. Reverse transcriptase – PCR

c. Real time PCR

d. Mimic PCR

278. Antenatal mentarnal HIV diagnosis is of importance in:

a. To prevent vertical transmission 

b. To terminate 

c. To discharge 

d. To isolate the patient 

279. A patient comes to hospital with a history of sore throat, diarrhoea and sexual contact 2 weeks before. The best investigation to rule out HIV is:

a. P24 antigen assay 

b. ELISA 

c. Western blot 

d. Lymph node biopsy 

280. A resident doctor sustained a needle stick injury while sampling blood of a patient who is HIV positive. A decision is taken to offer him post-exposure prophylaxis which one of the following would be the best recommendation:

a. Zidovudine + Lamivudine for 4 weeks 

b. Zidovudine + Lamivudine + Nevirapine for 4 weeks 

c. Zidovudine + Lamivudine + Indianvir for 4 weeks 

d. Zidovudine + Lamivudine + Nevirapine for 4 weeks 

281. Which of the following is used to prevent HIV transmission from an HIV positive pregnant mother to child:

a. Lamivudine 

b. Stavudine

c. Nevirapine

d. Didanosine

282. Which of the following is correct about prions:

a. Long incubation period 

b. Destroyed by autoclaving at 121°C

c. Nucleic acid present 

d. Immunogenic

283. Prion is a:

a. DNA 

b. RNA

c. Protein 

d. Polysaccharide 

284. The only pathogenic true yeast is:

a. Candida 

b. Saccharomyces 

c. Cryptococcus 

d. Trichophyton

285. All are dimorphic fungi except:

a. Histoplasma

b. Paracoccidiodes

c. Cryptococcus 

d. Blastomyces

286. Fungus which cannot be grown on artificial media/ not cultivable fungus is:

a. Rhinosporidiumseeberi

b. Penicillin marneffei

c. Aspergillusflavus

d. Sporothrixschenchii

287. An example of dimorphic fungi:

a. Histoplasmacapsulatum

b. Chromoblastomycosis

c. Cryptococcus neoformans

d. Aspergillusfumigatus

288. ‘Yellow black’ granules are seen in which fungal infection:

a. Mucormycosis

b. Mycetoma

c. Aspergillosis

d. Rhinosporidiosis

289. Color of granules produced by actionomycetes is:

a. Black 

b. Yellow 

c. Blue 

d. White 

290. The granules discharge in mycetoma contains:

a. Bone specules

b. Fungal colonies 

c. Pus cells 

d. Inflammation cells 

291. A farmer presents with multiple discharging sinuses in the leg not responding to antibiotics. Most likely diagnosis is:

a. Madurella

b. Action-mycetoma

c. Nacardia

d. Sporothrix

292. The causative agent of recurrent ulcer in sub –himalayan region is:

a. Cladosporium

b. Sporothrix

c. Chromoblastomycosis

d. Mucor

293. Sclerotic bodies are found in:

a. Rhinosporidiosis

b. Histoplasmosis

c. Coccidiomycosis

d. Chromoblastomycosis

294. Darling disease is caused by:

a. Histoplasma

b. Candida 

c. Cryptococcus 

d. Rhizopus

295. Most common fungal infection in non HIV infected (immunocompetent) persons is:

a. Candida 

b. Cryptococcus 

c. Mucor

d. M. aspergillus

296. Which of the following is only yeast:

a. Candida 

b. Mucor

c. Rhizopus

d. Cryptococcus 

297. Budding is seen with:

a. Cryptococcus & Candida 

b. Candida &Rhizopus

c. Rhizopus&Mucor

d. Candida &Aspergillus

298. The capsule of Cryptococcus neoformans in a CSF sample is best seen by:

a. Gram stain 

b. India ink preparation 

c. Giemsa stain 

d. Methanamine – silver stain 

299. The most common organism amongst the following that causes acute meningitis in an AIDS patient is:

a. Streptococcus pneumonia 

b. Streptococcus agalactiae

c. Cryptococcus neoformans

d. Listeria monocytogenes

300. Latex agglutination study of the antigen in CSF helps in the diagnosis of:

a. Cryptococcus 

b. Candidiasis 

c. Aspergillosis

d. Histoplasmosis

301. Aflatoxins is produced by:

a. Aspergilusflavus

b. Aspergilusniger

c. Candidia

d. Cryptococcus / Nocardia

302. Select the false statement about P. jiroveci:

a. It is seen in only immunocompromised individuals 

b. Frequently associated with CMV

c. May be associated with penumatocele

d. Diagnosed with sputum microscopy 

303. Which of the following is a fungus:

a. Klebsiella

b. Clostridia 

c. Pneumocystis jirovecii

d. Listeria 

304. Fungal toxin causing liver cancer:

a. Aflatoxin

b. Trichothecenes

c. Ochratoxin

d. Fumonisins

305. DOC of pneumocystis jirovecii:

a. Contrimoxazole

b. Penicillin 

c. Amphotericin B

d. Clotrimazole

306. Which of the following parasite can enter through intact skin:

a. Giardia 

b. Whip worm 

c. Strongyloider

d. Trichinella

307. Which among the following doesn’t enter human body via skin:

a. Ancyclotoma

b. Strongyloides

c. Trichinella

d. Necator

308. All are true about Entamoebahistolytical except:

a. Stool trophozoites are essential for diagnosis

b. Mostly (85%) are asymptomatic 

c. Cause disease in brain 

d. Cause disease in liver 

309. The most common site for Amoebiasis is:

a. Sigmoid colon 

b. Transverse colon 

c. Cecum 

d. Hepatic flexure 

310. Number of nucleus presents in mature cyst of E. histolytica is:

a. 1

b. 2

c. 4

d. 8

311. Most common cause of dysentery in adult is:

a. Crypto parvum

b. Giardia 

c. Strongoloides

d. Entamoebahistolytica

312. Acute meningoencephalitis is cause by:

a. Acantamoeba

b. Nageleria

c. Meningococus

d. Balmuthia

313. Which of the following is not a neuroparasite:

a. Taeniasolium

b. Acanthamoeba

c. Naegleria

d. Triuchellaspiralis

314. Girl visit her friend’s village, develops nasal discharge meningitis and dies in 5 days. Organism responsible is:

a. Naegleriafowleri

b. Acanthamoaeba

c. Toxoplasma 

d. P. falciparum 

315. True about Giardiasis:

a. Only cyst is infective 

b. Reside is ceacum

c. Only man to man transmission 

d. Exist in one phases 

316. Which of the following infestation leads to malabsorption:

a. Giardia lamblia

b. Ascarislumbricoides

c. Necater Americana 

d. Ancylostoma duodenal 

317. Chagas disease is caused by:

a. Trypanosomacruzi

b. Trypanosomagambiense

c. Trypanosomabrucei

d. Leishmaniadovovani

318. Sleeping sickness is transmitted by:

a. Tse-tse fly 

b. House fly 

c. Sand fly 

d. Simulium fly 

319. Vector for Kala-azar:

a. Flea 

b. Tsetse fly 

c. Sand fly 

d. Tick 

320. Amastigote forms are seen in:

a. Leishmaniadonovani

b. Toxoplasma gondi

c. Leishmania major 

d. Entamoeba

321. Leishmania is cultured in ______ media:

a. Chocolate agar 

b. NNN

c. Tellurite

d. Sabourauds

322. In patient with malaria. If fever has periodicity of 72 hrs, which one  of the following is likely to be causative agent:

a. P. falciparum 

b. P. vivax

c. P. ovale

d. P. malaria

323. Schizonts are not seen in peripheral smear in which type of malaria:

a. P. Vivax

b. P. Falciparum

c. P. Ovale

d. P. Malaria 

324. Cerebral malaria is caused by:

a. Plasmodium falciparum 

b. Plasmodium ovale

c. Plasmodium vivax

d. Plasmodium malaria 

325. Urban malaria is due to:

a. Anopheles stephensi

b. Anopheles culicifacies

c. Aedes

d. Culesvishnui

326. IP of P. vivax:

a. 5 – 7 days 

b. 7 – 10 days 

c. 10 – 14 days 

d. 15 – 30 days 

327. All are factors for Resurgence of Malaria except:

a. Vector residence 

b. Host residence 

c. Use of bed nets 

d. Mutation in parasite 

328. Matlese cross is characteristic feature of:

a. Cryptococcus neoformans

b. Babesiamicroti

c. Blastomycosis

d. Penicillin marfeni

329. Man acts as definitive % intermediate host for:

a. Taeniasolium – Cysticercosis

b. Taeniasolium – intestinal taeniasis

c. Taeniasanginata – intestinal taeniasis

d. Taeniasanginata – crysticercosis

330. Which of the following is the most common central nervous system parasite infection:

a. Echinococcosis

b. Sparganosis

c. Paragonimiasis

d. Neurocysticercosis

331. Consumption of uncooked pork is likely to cause which of the following helminthic disease:

a. Tineasaginata

b. Tineasolium

c. Hydatid cyst 

d. Trichuristrichura

332. Cause of epilepsy in upto 50% Indian patient is:

a. Neurocysticercosis

b. Cerebral malaria 

c. Toxoplasmosis 

d. Cerebral hydatid cyst 

333. Skin test useful in hydatid disease is:

a. Casoni’s test 

b. Schick test 

c. Patch test 

d. Dick’s test

334. Intermediate host for hydatid disease:

a. Man 

b. Dog 

c. Cat 

d. Foxes 

335. DOC for Echinococcusgranulosus is:

a. Albendazole

b. Mebendazole

c. Praziquentel

d. Thiabendazole

336. Water host required for schistosomiasis:

a. Fish 

b. Cyclops 

c. Snails 

d. Crabs 

337. A man after return from complains of pain abdomen, jaundice with increased alkaline phosphatase & conjugated hyper-bilirubinemia. USG shows blockage of the biliary tree. What could be the cause:

a. Fasciolabuski

b. Strongyloides

c. Clonorchissinesis

d. Gnathostomaspinigerum

338. Cholangiocarcinoma is caused by:

a. Fasciola infestation

b. Clonorchis infestation 

c. Paragonimus infestation 

d. Ascaris infestation 

e. None of these 

339. Terminal spined eggs are seen in:

a. Schistosomahaematobium

b. Sch. Mansoni

c. Sch. Japonicum

d. Chlonorchissinensis

340. Schistosomajaponicum resides in:

a. Vesical plexus 

b. Splenic vein

c. Systemic circulation 

d. Gall bladder 

341. All of the following parasite enter the human body by penetrating the skin except:

a. Ancylostoma duodenal 

b. Necatoramericanus

c. Strongyloidesstercoralis

d. Trichinellaspiralis

342. Ova in stool are not of diagnostic significant in:

a. Strongyloides

b. Enterobius

c. Ankylostoma

d. Trichuris

343. Hookworm enters by:

a. Skin penetration 

b. Ingestion 

c. Inhalation 

d. Inoculation 

344. The average blood loss in Ancylostomiasis per worm is:

a. 0.2 ml/day

b. 2 ml/day

c. 0.33 ml/day

d. 1 ml/day

345. Which doesn’t cause lymphatic filarisis:

a. Loa loa

b. Wuchereriabancrofti

c. Brugiamalai

d. Brugiatimori

346. Vector for bancroftianfilariasis:

a. Culexfatigans

b. Anopheles 

c. Aedesaegypti

d. Mansonella

347. Commonest cause of nosocomial infection:

a. Pseudomonas 

b. Staphylococci 

c. Klebsiella

d. Enterobacteriaceae

348. A young male patient presented with UTI, on urine examination pus cells were found but no organisms. Which method would be best for culture:

a. McCoy cell line 

b. Thayer martin medium 

c. L.J medium 

d. Levinthal medium 

349. Food poisoning in canned food is caused by:

a. Staphylococcus 

b. Salmonella 

c. Clostridium botulinum

d. Bacillus cereus 

350. Traveller’s diarrhoea is caused by:

a. Shigella

b. E. coli 

c. E. histolytica

d. Giardiasis 

